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Section type: Online

Mandatory or Optional: Mandatory

Number of Questions: 20

Number of Questionsto be attempted: 20

Section Marks: 20
Sub-Section Number: 1
Sub-Section I1d: 998367271
Question Shuffling Allowed : Yes

Question Number : 1 Question Id : 9983674377 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

There is a certain relationship between two given words on one side of : : and one word is given on another side of : :
while another word is to be found from the given alternatives, having the same relation with the word as the words of
the given pair.

Choose the correct alternative.

Drone : Bee :: Stag: ?

Options:
1. &« Girl

72, % Cow

3 « Doe

/. % Niece

Question Number : 1 Question Id : 9983674377 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: 0.25
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Options:
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Question Number : 2 Question Id : 9983674378 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: 0.25

There is a certain relationship between two given numbers on one side of : : and one number is given on another side of
: : while another number is to be found from the given alternatives, having the same relation with the number as the
number of the given pair.

Choose the correct alternative.

24 156 2527
Options:

1. % 242

7 % 224

3. v 338

Question Number : 2 Question Id : 9983674378 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25
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Options:



1. = 242

2w 224
3. v 338
4. % 390

Question Number : 3 Question Id : 9983674379 Question Type: MCQ Option Shuffling: Yes

Correct Marks: 1 Wrong Marks: 0.25

A group of three interrelated word is given. Choose a word from the given alternatives that is similar to the given words
and hence belongs to the same group.

Insects : Reptiles : Mammals
Options:
1. %= Ostrich

? % Rat

3.« Rodent

/. % Snake

Question Number : 3 Question Id : 9983674379 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: 0.25
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Options:
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Question Number : 4 Question Id : 9983674380 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A group of three interrelated numbers is given. Choose a numbers from the given alternatives that is similar to the given
numbers and hence belongs to the same group.

35:77:143
Options:

1. % 180

L]
n

2. % 1

3. % 270

4. v 221

Question Number : 4 Question Id : 9983674380 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: 0.25

T RER FEfoT TEImE # vw wag R mw §) Re v Reedt # @ w o vmw g S &
I TEATHT & TAR @ HR 5§ YR 34T THE ¥ TEUT &

35 : 77 : 143

Options:



1. =« 180

2« 135
3. % 270
4. v 221

Question Number : 5 Question Id : 9983674381 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which of the following is the same as Ampere, Watt and Ohm?
Options:

1. = Power

? % Resistance

3.« Candela

4. % Mass

Question Number : 5 Question Id : 9983674381 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

fafaf@a & @ Fi9 77 g Rega onr # vfFa, ae 363t ew |
FATAET @aT 2

Options:

1. = fREser



Question Number : 6 Question Id : 9983674382 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: 0.25

Four pairs of words are given out of which the words in three pairs bear a certain common relationship. Choose the pair
in which the words are differently related.

Options:
1. ® Cock : Strut

? % Bear: Lumber

R Mouse : Scamper

4. » Donkey :Leap

Question Number : 6 Question Id : 9983674382 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 7 Question Id : 9983674383 Question Type: MCQ Option Shuffling : Yes

Correct Marks: 1 Wrong Marks: 0.25

Four pairs of numbers are given out of which the numbers in three pairs bear a certain common relationship. Choose the
pair in which the numbers are differently related.

Options:

1. % 53-59
? % 71-73
3 x 83-89
4, v 47-61

Question Number : 7 Question Id : 9983674383 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: 0.25

eal % AR B T v § BH & @9 S & el % 99 v Afvea v e wav gl 9 A g9
Smd o e Yo ¥ =T §EfeT 2

Options:
1. = 53 -59
2 % 71-73

3. % 83 -89



4. « 47 - 61

Question Number : 8 Question Id : 9983674384 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

One evening John was standing facing a tree. The shadow of the tree fell exactly to his right. Which direction he is
facing now?

Options:
1. %= East

7« North

3 % South

A = West

Question Number : 8 Question Id : 9983674384 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25
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$r 3R Hqg F& T
Options:

1. = ®

2. v FoH



Question Number : 9 Question Id : 9983674385 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Sachin, Sahil, Sandhya, Sani, Sanju, Saurabh, Shweta and Sunil are sitting around a round table in the same order for
lunch at equal distance. Their positions are clockwise. If Sandhya sits facing East, then what will be the position of
Sunil?

Options:

1. #= North - East

? % North - West

3. « South - East

4. % South - West

Question Number : 9 Question Id : 9983674385 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

wfE=, Fifge, T, T, §, Wi, @ AR g, o= & v e e A & 9nf 3R §Ae gRat
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Options:

Question Number : 10 Question Id : 9983674386 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



The sheet of paper in fig X is folded to form a cube. Which will come opposite to face showing %07

Options:
1.v @

!.[L
%
HE

Question Number : 10 Question Id : 9983674386 Question Type: MCQ Option Shuffling: Yes

Correct Marks: 1 Wrong Marks: 0.25

B X # # & v fic & Aige UF O ST TAT g1 SHHT AT 87T % T@T W B, 3T S
fTala #ar gem?

& | %

Options:

1. v @



Question Number : 11 Question Id : 9983674387 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Six children A, B, C, D, E and F are standing in a line. F is to the left of A and right of B. D is between C and B. E is

standing left of C. Who is standing at the left extreme?

Options:
1. % C

Question Number : 11 Question Id : 9983674387 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25
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Options:



Question Number : 12 Question Id : 9983674388 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

If NATION is coded as 467234 and EARN is coded as 1654, then ATTENTION should be coded as
Options:
1 % 432769561

7 % 956143654

3 % 766412743

A, v 677147234

Question Number : 12 Question Id : 9983674388 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

s fAfPa = 7 NATION =7 467234 31T EARN &I 1654 for@m =mar g1 38 =g 7 ATTENTION &t

&g 9T o Areem?
Options:

1. = 432769561

2« 956143654

3. » 766412743



4. v 677147234

Question Number : 13 Question Id : 9983674389 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

In a beauty contest, only five contestants Simran, Mukta, Zeenat, Sonali and Cassandra reached the final stage. Simran
ranked third and one step above Cassandra. Cassandra is two steps below Sonali who is neither the first nor the last.
Mukta is just below Cassandra. Who emerged the crown bearer?

Options:

1. #= Simran

7 « Zeenat

3. % Cassandra

/. % Sonali

Question Number : 13 Question Id : 9983674389 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25
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Options:

1. = T



Question Number : 14 Question Id : 9983674390 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

What is the product of all the numbers in the dial of a telephone (excluding 0)?
Options:
1. % 155788

7« 362880

3. % 255690

Question Number : 14 Question Id : 9983674390 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

éﬁﬁﬂﬂﬂ'ﬂ;mﬁmﬁﬂﬁﬁ{ﬂaﬁmma}ﬂﬂﬂumm Far T g7
Options:

1. » 155788

2. « 362880

3. % 255690

4. % 556058

Question Number : 15 Question Id : 9983674391 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



What will be the water image of?
L g
"t

Options:

.. )

Question Number : 15 Question Id : 9983674391 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25
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Options:
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Question Number : 16 Question Id : 9983674392 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25
Following are the criteria to recruit a Teacher in a college:
I.  The Applicant must be science graduate with 75% marks.

II.  Have his/her age in between 25 to 32 years as on 10-05-2019.

III. Have a PG degree/ 3 years diploma or must have completed B.Ed. with more than 65% marks.

IV. Have minimum 3 years’ experience in Teaching.
V.  Be ready to join 2 year probation.

If a candidate satisfies all the criteria except
at IIT above. but is an Arts with Mathematics graduate with minimum 72% marks and has an experience

of more than 5 years and more her/his case is to be referred to the Vice President.
at I'V above. but master degree’s with minimum 60% marks. her/his is to be referred to the President

A detail of applicant is given below i the questions. On the basis of the following decision which is based on the

data given above, mark the answer.
Sahil is a B.Sc. Graduate with 80% marks and has completed PG in Mathematics with 59% marks. He completed

28 years of age in 2017 and has 1 years” experience as a Mathematics Faculty. He is ready to join probation period
of 2 year.

Options:
1. = Ifcaseis to be referred to President.

? % If case is to be referred to Vice President.



3. % If candidate is to be selected.

4. « If candidate is not to be selected.

Question Number : 16 Question Id : 9983674392 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

T Fiola H T AT A o7 g ATEs o f@m maw &
I.  3MaceHk &1 75% 3Rl & Ay FA = TAaw g Afea g
. 10-05-2019 &I &Y Y 25 ¥ 32 ¥ & &7 geir AT

M. s =3 v #r RBoehar & et 65% ¥ HiOw @ F @y @vs. @ T an
Iv. freror & 7 ¥ F7 3 9§ F 3geE @

V. 23§ #r ofideT w GgEa @ & e daw an
I vk et wEES AvEs @ Far ¢ e

sFa Il & fafea Aafa sgaas 72% 3@ & @1 o dR For =aw g AR 5 ¥ 7 3w Fv awgwe € O 3Ee Aeer suregst &
wefda frar Fmeem)|

3% IV & Afalt=a, afha ~g7a# 60% 3T & |y AT 34t &, o 3War AmFer Hemet # werda f&ar smeem

AT Teh HTEEH & [9aR0T A U v § 399 gEanst F 3uR ¥ T @i F 3mur T 3eax Regd #:1

wifger 80% 3hT & WY ALTE.H. FES g, AT AU F feh g GFar §1 2017 F 397 28 a9 3g qoT F @ 3R A0 FEw F w F 1 a9
F AT 21 T€ 2 79 ¥ T | FgET @ F Tow d9R

Options:

1« 3 AT 3eTET F FefHa A S @
D« TG ATHGT 3UTETET FT HEHT AT AT &

3 ofg st & Rgea B s 8

4 afg st &1 e @t e s e

Question Number : 17 Question Id : 9983674393 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Following are qualifications for a technical assistant post in company Alpha.

The candidate must:-
4 Be an Engineering graduate with atleast 70% marks.
II. Not less than 23 years and not more than 30 years of age on 1.7.2019.
III.  Have passed the selection test with atleast 60% marks.

IV.  Willing to join immediate for training and ready to pay a deposit of Rs. 20000, to be refunded on
completion of training.

However, if a candidate fulfils the above mentioned criteria except:

at (I) above, but he has appeared for the last semester examination and obtained an aggregate of 65% marks in previous
semester, his’her case may be referred to the V.P. of the company.

at (IT) his/her age is less than 23 years but he secured 80% marks in graduation, the case may be referred to the General
Manager of the company.

The detail of the candidate is given as regards his’her candidature. You have to read the information provided and
decide his/her status based on the conditions given above.

Raviis an IT engineer passed his graduation with 80% marks. After getting the engineering degree he has done MCA.
He has cleared the selection test with 70% marks.

He is ready to deposit above said amount and want to join immediately. His date of birth is 2.10.1997.
Options:
1. = If the candidate is to be selected.

? % If the candidate is not selected.

3. % Ifthe case is referred to the V. P.

4. » Ifthe case is referred to the General Manager.

Question Number : 17 Question Id : 9983674393 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 18 Question Id : 9983674394 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



The statement given below is followed by two decisions labeled I. and II. You have to assume everything in the
statement to be true, and then decide which of the two suggested decisions logically follows for pursuing.

Statement:

Without active cooperation between officers and office staffs of the company, it cannot remain profitable to run business
from this office.

Decisions:
L The office should be closed down.

II.  The office staff should be terminated.
Options:
1. » OnlyIfollows.

? % BothIand II follow.

3.« Neither I nor II follow.

4. » OnlyII follows.

Question Number : 18 Question Id : 9983674394 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0.25
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3. » Tarlo il wer gl
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Question Number : 19 Question Id : 9983674395 Question Type: MCQ Option Shuffling: Yes

Correct Marks: 1 Wrong Marks: 0.25

The statement given below is followed by two decisions labeled I. and II. You have to assume everything in the
statement to be true, and then decide which of the two suggested decisions logically follows for pursuing.

Statement:
People living in rural areas are far from education and health awareness.
Decisions:

[.  Assoon as possible schools and colleges should be opened in these areas.

II. A mass awareness program must be initiated in these areas.
Options:
1. » OunlyIfollows.

? « BothI and II follow.

3 % Either I or II follow.

4. % OnlyII follows.

Question Number : 19 Question Id : 9983674395 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 20 Question Id : 9983674396 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The statement given below is followed by two decisions labeled I. and II. You have to assume everything in the
statement to be true, and then decide which of the two suggested decisions logically follows for pursuing.

Statement:
All emplovees of the office have gone on strike in protest against the privatization of women helpline.
Decisions:

I.  All the concern authority should interfere in this matter to resolve issue.

II.  All the employees should be immediately terminated from job.
Options:
1. « OunlyIfollows.

? % BothIand II follow.



3. % EitherI or II follow.

4. = OnlyII follows.

Question Number : 20 Question Id : 9983674396 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25
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Mental Ability2

Group Number : 2
Group Id: 998367178



Group Maximum Duration :

Group Minimum Duration :

Show Attended Group? :

Edit Attended Group? :

Break time:

Group Marks:

IsthisGroup for Examiner?:

Revisit allowed for group Instructions? :
Maximum Instruction Time:

Minimum Instruction Time:

Section Id :

Section Number :

Section type:

Mandatory or Optional:

Number of Questions:

Number of Questionsto be attempted:
Section Marks:

Sub-Section Number:
Sub-Section Id:
Question Shuffling Allowed :

No
No

20
No
Yes

Mental Ability?2

998367184
1

Online
Mandatory
20

20

20

1
998367272
Yes

Question Number : 21 Question Id : 9983674397 Question Type: MCQ Option Shuffling: Yes

Correct Marks: 1 Wrong Marks: 0.25
How many triangles are in the figure?

/AN

Options:
1. = 20

? % 22



Question Number : 21 Question Id : 9983674397 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

s & fraer B §2

AN

Options:

1. = 20
2w 22
3. v 21
4 = 18

Question Number : 22 Question Id : 9983674398 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which of the following words in the options cannot be formed from the given word “HOMOGENEOUS".
Options:
1. » SONG

7« SING

3. » GENOME

A. % SUNG

Question Number : 22 Question Id : 9983674398 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



e 71T e "HOMOGENEQUS" T 39319 &las T 71T Beat H & FHi9dr oreg Fgr g1
ST FeheTT &l

Options:
1. = SONG
2. v SING

3. » GENOME

4. » SUNG

Question Number : 23 Question Id : 9983674399 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Four letter clusters are given out of which the three letter clusters bear a certain common relationship. Choose the option
in which the letter clusters are differently related.

Options:
1. &« CFIL

7 % DGIM

3. ¢ PSVX

A. % EHKN

Question Number : 23 Question Id : 9983674399 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A TR 3R FAE U T § eE ¥ O R wag e # feEr a1 e afes @ wefoe §1 s
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Options:



1. « CFIL

2 % DGIM
3. v PSVX
4 % EHKN

Question Number : 24 Question Id : 9983674400 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Four numbers are given out of which the three numbers bear a certain common relationship. Choose the number which
is different from others.

Options:
1. « 253

7 % 319

3. % 203

Question Number : 24 Question Id : 9983674400 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25
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2 % 319

3. % 203

4. % 377

Question Number : 25 Question Id : 9983674401 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Four figures are given out of which the three figures bear a certain common relationship. Choose the figures which is
different from others.

Options:

Question Number : 25 Question Id : 9983674401 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 26 Question Id : 9983674402 Question Type: MCQ Option Shuffling: Yes

Correct Marks: 1 Wrong Marks: 0.25

If *water’ is called ‘food’, “food’ is called ‘tree’, ‘tree’ is called “sky’, “sky” is called ‘well’, on which of the following
grows a fruit?

Options:
1. = Well

? % Water

3. v Sky

4 = Tree

Question Number : 26 Question Id : 9983674402 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25
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Options:

1, « B0
72w Ao

3. v AR
4. = EE

Question Number : 27 Question Id : 9983674403 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Facing west, Suresh turns 45 degrees in the clockwise direction and then another 180 degrees in the same direction and
then 270 degrees in the anti-clockwise direction. Which direction is he facing now?

Options:
1. ® North - East

? % North - West

3. % South - East

4.« South - West

Question Number : 27 Question Id : 9983674403 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

qfas @ 3R Hg H BT g T A e F 45 B v v 3¢ e 7 180 Bk ik v o
Fr falg faem # 270 33 9T Fgar §1 39 37 W MR AT FF weT 87

Options:



Question Number : 28 Question Id : 9983674404 Question Type: MCQ Option Shuffling: Yes

Correct Marks: 1 Wrong Marks: 0.25

If ‘A - B” means A is mother of B, *A § B", A is sister of B, "A (@ B’ means A is father of B and ‘A = B’ means A is
son of B.

IfR=S5S=0 @ P, then how R is related to P?
Options:
1. » Nephew

? % Son

3. % Brother

/. % Niece

Question Number : 28 Question Id : 9983674404 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

TEA-BFATABINATE ASB FHTA BH a2, ‘A@ B & 37 A B F g,
3 A =B # 3T A B F T

IfER=S=0@ P, &R, P ¥ " vor dafog &2

Options:



1. » ST T

A, x SAASATHA

Question Number : 29 Question Id : 9983674405 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Ram and Mohan are brothers. Shweta and Anu are sisters. Dinesh is husband of Manju and son of Manoj. Ram is son
Manoj and Anu is daughter of Dinesh. How Dinesh is is related to Mohan?

Options:
1. % Sen

7 « Brother

3. % Father

/], % Brother in law

Question Number : 29 Question Id : 9983674405 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

T 3R A 515 &) 93T 3R 3] 9 €1 @, A @ 9f §, S 7A@ 9 8 A, 7O B S
g 3R 3, & & T g1 GFw, Aa ¥ FFF ver w6T 82

Options:

1. % &



A« FEeAS SR AN S

Question Number : 30 Question Id : 9983674406 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25
If ‘P * Q” means P is father of Q, ‘P % Q’, P is daughter of Q, ‘P # Q’ means P is mother of Q and ‘P = Q’ means Q is

son of P.

IfM * N % O #R* S, then how R is related to M?
Options:
1. = Brother

? « Son
3. % Father

4. % Mother

Question Number : 30 Question Id : 9983674406 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

TP« QFITP,QFRAAME P A FITP, QHA TN, PHAQ FHIP, QHF ATE,
P =Q & AT QP F TR

T M+ N % O#R=+Sda R M¥T g gor wafta &2

Options:

1, « 9%



Question Number : 31 Question Id : 9983674407 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

In certain code SILVER is written as 19J1222F 18, How will be YELLOW written in that code?
Options:
1. = 25E1212P23

7  25F1212P23

3. % 25F12121623

Question Number : 31 Question Id : 9983674407 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

v 3REa FiE #F SILVER & 19J1222F18 Br@r =mar g1 38 F1E § YELLOW #Fr &5y vt R
SATTA?
Options:

1. » 25E1212P23

2. 25F1212P23



3. % 25F12121623

4. » 25F1213P23

Question Number : 32 Question Id : 9983674408 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

In certain code PINK is written as 200, How will be GREEN written in that code?
Options:
1. = 200

7 % 150

3 ¢ 245

Question Number : 32 Question Id : 9983674408 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

us ARTd 1 & PINK & 200 B/r sar &1 38 & # GREEN 1 &F yer omr seer?

Options:

1. = 200

2 % 150

3. v 245



4. % 175

Question Number : 33 Question Id : 9983674409 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which of the following pairs of signs, when their positions are interchanged, will correctly solve the given mathematical
equation?

20+5—25+15%x5=>54

Options:

1. % —+and=x
2.« +and+
3. % +andx
4. = +and-

Question Number : 33 Question Id : 9983674409 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

fort 7 @ forw feg 3w A, 3o Tufoar e s = o R wrar a1 aietor w@r & &
FTT?

20+ 5-25+15 x5 =54
Options:

1w =



Question Number : 34 Question Id : 9983674410 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which of the following pairs of numbers and signs, when their positions are interchanged, will correctly solve the given
mathematical equation?

l6+4x12+14-T7=26
Options:
1. = 16and 12, + and —

? w 7and 16,—and x

3 % 14 and 7. * and +

4 « 12and7,+and—

Question Number : 34 Question Id : 9983674410 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

wEaTHt 7 Rl & T # ¥ B9 3o A, 39 Rufan WER see I W it
THEHIOT TET gef gl SAT=?

16 +4x12+14-7=26
Options:

1. » 16 3T 12, + 3R -

2w 73R 16, - 3T x

3. 0« 1437, x 3R+



4. v 1237, + 3K -

Question Number : 35 Question Id : 9983674411 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Some teams take parts in a cricket tournament. Each one has to play every other one. If there are 78 games played. How
many teams are there?

Options:
1. = 11

? % 12

3.v 13

4 = 14

Question Number : 35 Question Id : 9983674411 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

o &F % fee T # REE o 1 |l SR & Uw gEy % WY TEAT g1 3FR Fo 78 WA T
S g1 & & # g FE fae 22

Options:

1. = 11
2 = 12
3. v 13



Question Number : 36 Question Id : 9983674412 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Four words have been given out of which three are alike in some manner, while the fourth one is different. Choose out
the odd one.

Options:
1. » Kidney

? w Liver
REE" Tungs

4. « Toe

Question Number : 36 Question Id : 9983674412 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A weg fow 1w F oed @ A7 O Yo WA g, Feafe Star e g1 wwea #oga

Options:

4 o T S

Question Number : 37 Question Id : 9983674413 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



In problem, out of four figures marked 1, 2, 3 and 4, three are similar in a certain manner. However one figure is not like
the other three. Choose the figure which is different from the rest.

Answer Fig:

a+ * * + *
= * 2 -
F o * I

1 2 3 -4
Options:

1. % 1

4 = 4

Question Number : 37 Question Id : 9983674413 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

T H, 1, 2, 3 AR 4 3T 91 "ET F ¥ 39 0 9eR A g1 g U R, 39 8 & g A
T F TR S AR B

3l TR

* g x ¥

| 2 3 4
Options:
1 L % 1



Question Number : 38 Question Id : 9983674414 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the option that will correctly replace the question mark (?) in the series.

15, 32, 49, 66, ?
Options:
1. = 73

? % 79
3. v 83

4 = 89

Question Number : 38 Question Id : 9983674414 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

T¢ e g9 S ger 7 geafEEa () & wér gfarnfa s

15, 32, 49, 66, ?

Options:
1. = 73
2 % 79

3 v 83



Question Number : 39 Question Id : 9983674415 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the option that will correctly replace the question mark (?) in the series.

21,22 31,506, 2
Options:
1. = 75

? % 85

3 % 95

A » 105

Question Number : 39 Question Id : 9983674415 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

T¢ e g9 S ger 7 geafEEa () & wér gfarnfa s

21, 2231, 58, 7

Options:
1. = 75
2 = 85

3. % 95



4. « 105

Question Number : 40 Question Id : 9983674416 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the option that will correctly replace the question mark (?) in the series.

6, 10, 14, 22, 30,42 ?
Options:
1. = 48

Question Number : 40 Question Id : 9983674416 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

T¢ e g9 S ger 7 geafEEa () & wér gfarnfa s

6, 10, 14, 22, 30, 42, ?

Options:
1. = 48
2. % 50



4. v 54

General Awarenessi
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Group Id: 998367179
Group Maximum Duration : 0
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Question Shuffling Allowed : Yes

Question Number : 41 Question Id : 9983674417 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The term ‘Tsunami’ is derived from Japanese language. The
literal meaning of Tsunami is?

Options:

1. * Demon Waves
2. = Destructive Waves
3. v Harbour Waves



4, « Death Waves

Question Number : 41 Question Id : 9983674417 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

GATHT' ereg SITATeT ST KT Uk ASE g FoATHT FT ATfeeh 37
£7

Options:

1. % ZTeldT olad
2. % TUITeTehRT oI@d
3. v BT o8l

4. = AT HT &

Question Number : 42 Question Id : 9983674418 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The theory of Plate tectonics is related to which one of the
following Natural disasters?

Options:

1. v Earth quake
2. = Landslide

3. = Cyclone

4. = Flood

Question Number : 42 Question Id : 9983674418 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0.25

Tole ¢l T g faraiioli@d # & e i 3moer
# gefad 87

Options:

1. v 89
2. = SEHeI
3. % Tehdld



4. = d1¢

Question Number : 43 Question Id : 9983674419 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0.25

On which date International Day for Biodiversity is observed?

Options:

1. = June, 22
2. v May, 22
3. = May, 15
4. = June, 15

Question Number : 43 Question Id : 9983674419 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

RS ofF [fguar Gag Fg ai® FF A« SET 87

Options:

1. % 22 Sfef

2. v 22 A%
3. = 15 A%

4. % 15 [T

Question Number : 44 Question Id : 9983674420 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The buffering capacity of soil refers to the capacity of soil to
resist change in its:

Options:

1. = Colour

2. v pH

3. * Water content
4. » Na{l content

Question Number : 44 Question Id : 9983674420 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



HGT T SHIRET &THAT HaT $HT 38 &HAT HI FEHT Hl § S
el & gRade &1 [T FIar &

Options:

1. = LT

2. v 9w (pH)
3. % lail T HMET
4. = NaCl FT AT

Question Number : 45 Question Id : 9983674421 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The player of which country has won the Malaysian Open
2019 Badminton women’s singles title?

Options:

1. » South Korea
2. % Japan

3. v Taiwan

4, = Spain

Question Number : 45 Question Id : 9983674421 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

HlfeTs 3uer 2019 ssfHead H AR Uahel A oFE dor &
TEremsT & Sirar?

Options:

1. = ZT&TOT ShITAT
2. % ST

3. v digdre

4. = T

Question Number : 46 Question Id : 9983674422 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25




In which year was the 54th Shaurya Diwas (Valour Day)
observed by Central Reserve Police Force (CRPF)?

Options:

1. = 2016
2. % 2017
3. v 2019
4. = 2018

Question Number : 46 Question Id : 9983674422 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

S Rerd gfed sef (CRPF) ZanrT 54a1 oY fagw (@Re
fegw) forg a¥ AT =T AT?

Options:

1. = 2016
2. = 2017
3. v 2019
4. = 2018

Question Number : 47 Question Id : 9983674423 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Who is the present Chairman of National Human Rights
Commuission of India?

Options:

1. v H. L. Dattu

2. = Jyotika Kalra
3. = P. C. Pant

4. = P. C. Ghose

Question Number : 47 Question Id : 9983674423 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

HT & TS ATATIURR AT o TAHTeT TETE hiel &7



Options:

1. v TT.Te. &
2. = SR FHTeRT
3. % U &L Ud
4. = dr. @Y. =Y

Question Number : 48 Question Id : 9983674424 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which movie has won the award for best visual effects at the
91st academy (Oscar) awards ceremony?

Options:

1. » Green Book
2. » SKin

3. v First Man

4. = Black Panther

Question Number : 48 Question Id : 9983674424 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

fore Thedr o 919 3tehredlT (3FaT) TEHN TARIE A TIAS
T2 FTAl & folv e Siar?

Options:

1. = el b

-

2. % ol
3. v HEC He
4. % Sofh Yool

Question Number : 49 Question Id : 9983674425 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The Aravidu dynasty is a part of which empire in India?

Options:

1. » Mughal Empire




2. v Vijayanagar Empire
3. » Gupta Empire
4. = Mauryan Empire

Question Number : 49 Question Id : 9983674425 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

3Rfag o 9RA A form @At T fdeam 87

Options:

1. = HaTel HTHTST

2. v BTN HTHTSH

3. % el HIHTS

4. « AR OTHTST

Question Number : 50 Question Id : 9983674426 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Who among the following started the Wahabl movement in
India?

Options:

1. » Moulana Hussain Ahmed
2. » Jafar All Khan

3. v Syed Ahmad

4. = Mirza Ghulam Ahmed

Question Number : 50 Question Id : 9983674426 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

T H FErET elelel farafeli@d & @ fohaa 4w fRar?

Options:

1.wﬁmm@?r3im
2. % SIHT 3ol @l
3. v 8T A




4. = TASAT ITTH 3TEHT

Question Number : 51 Question Id : 9983674427 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0.25

TATAT fadeTeie, & HRA H THFSUT fARE T Fmdar forg oy
r o7

Options:

1. = 1901
2. v 1897
3. = 1923
4. = 1868

Question Number : 51 Question Id : 9983674427 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

In which year the Ramakrishna Mission was founded in India
by Swami Vivekananda?

Options:

1. = 1901
2. v 1897
3. %1923
4. = 1868

Question Number : 52 Question Id : 9983674428 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0.25

Who among the following is associated with Satya Shodhak
movement in India?

Options:

1. = Acharya Vinoba Bhave

2. = Gopal Krishna Gokhale
3. v Jyotiba Phule

4. = Shiv Narayan Agnihotri



Question Number : 52 Question Id : 9983674428 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

farafaf@d & @ *la 9Rd & dcgenys 3ncte & 53 &7

Options:

1. » 3R RaEr g

2. = FYTel FHEOT T
3. v saifasr Eel

4. = &g AREOT AEARET

Question Number : 53 Question Id : 9983674429 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Under which constitutional amendment act, the Sindhi
language was added to the list of official languages recognized
by the Indian constitution?

Options:

1. = 51st amendment act

2. % 41st amendment act
3. = 31st amendment act
4. v 21st amendment act

Question Number : 53 Question Id : 9983674429 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

fore FauTierss el TATTH & dgd, [ @ 7 ARa
qiguTe SaRT ATl WIe MTeRIieh HIST3T T FT H SST
I=gT AT?

Options:

1. = 51 d delel 3ffafaA
2. = 41 & genyer fafags
3. = 31 & genyer ifafega




4. v 21 g garye AfafaTs

Question Number : 54 Question Id : 9983674430 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0.25

In the year 2010, the Government of India had categorised
which animal as the national heritage animal of India?

Options:

1. = Cow
2. = Tiger
3. v Elephant
4. = Lion

Question Number : 54 Question Id : 9983674430 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

g¥ 2010 H, 9IRd TR o T ATdaT FT ARG & TSET
R 9er & &7 A Felieha foram ar?

Options:

1. = M

2. % ®Te
3. v g
4. = AT

Question Number : 55 Question Id : 9983674431 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The Protem speaker of Lok Sabha is appointed by?

Options:

1. v President

2. = Chief Justice of Supreme Court
3. » Prime Minister

4. = EX-Speaker

Question Number : 55 Question Id : 9983674431 Question Type: MCQ Option Shuffling: Yes



Correct Marks: 1 Wrong Marks: 0.25

STRTAT T WA TURT Fhdh Za@rT fagera fohar sirar g7

Options:

1. v 38T

2.« GWH FIC F &I wgrGTedTer
3. * TUTAHAT

4. = gO 3yeTET

Question Number : 56 Question Id : 9983674432 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which article of the Indian constitution deals with the
executive power of the state?

Options:

1. = Article 104
2. » Article 254
3. v Article 154
4. = Article 124

Question Number : 56 Question Id : 9983674432 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

TR HIGUTeT FT Hlel AT 3edg Mo P FREAFHT afad &

1. » 37eTedg 104
. » 3efeose 254
.Jﬁﬂﬁ-‘c«’154
. » 3efeose 124

Question Number : 57 Question Id : 9983674433 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

= W N



Which article of the Indian constitution contains the
definition of the Money Bill?

Options:

1. = Article 299
2. » Article 199
3. v Article 110
4. = Article 129

Question Number : 57 Question Id : 9983674433 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

AT Aiaere & fohe fefede A oa [adash i gRsmsT &
Mg &7

Options:

1. = 37eog 299
. » 3Ty 199
.Jﬂﬁ?’l’lﬂ
. * 3eeoe 129

Question Number : 58 Question Id : 9983674434 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The articles 29 to 31 of the Indian constitution contains?

Options:

1. = Directive principles of state policy
2. = Right to freedom
3. v Cultural and educational rights

=~ W N

4. = Council of ministers

Question Number : 58 Question Id : 9983674434 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

AT HGUT & 29 & 31 3efeadal A enfdier &7

Options:



x T o Al faderss BT
x TAIAAT hT TTRR

v HERId 3 AT 3TEaer
. PR

ol

Question Number : 59 Question Id : 9983674435 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The terms Jigger, Scratch and Cannons is associated with
which one of the following games?

Options:

1. = Rugby
2. v Billiards
3. » Hockey
4. = Squash

Question Number : 59 Question Id : 9983674435 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

IR, T 3T Fad 1T G99 Aeafoi@ad # 8 fg T &
&7

Options:

1. = Tael
2. v Teforgsa
3. = BIehl
4, = TFAA

Question Number : 60 Question Id : 9983674436 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

With which sport the William Jones Cup is associated?

Options:

1. v Baskethall




2. » Football
3. » Hockey
4. = Golf

Question Number : 60 Question Id : 9983674436 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Rfeaa g F9 F To I @9fad &7

1. v STEhcdidl

bl

. % Uhcdlel

2 o0
3. = @l
4. = IMeH
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Sub-Section Number: 1
Sub-Section 1d: 998367274
Question Shuffling Allowed : Yes

Question Number : 61 Question Id : 9983674437 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

How many centuries did Sachin Tendulkar score in the ICC
Cricket World Cup championships (ODI)?

Options:

1. =7
2.% 5
3.% 8
4. v6

Question Number : 61 Question Id : 9983674437 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Hidel dgeeht @ ICC fara &7 fhehe Tz=IfRT (ODI) & Fol
fohdel erdsh FaTw &7

Options:

1. = 7
2. % 9
3. = 8
4. v 6

Question Number : 62 Question Id : 9983674438 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

In which Indian state the annual river festival ‘Dwijing’ is
celebrated?

Options:

1. v Assam
2. = Bihar
3. » Kerala



4, = Manipur

Question Number : 62 Question Id : 9983674438 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

HRT & forg T & ami¥es 747 g 'fegieter Aamr Sdar g7

Options:

1. v 348H

2. = T98R
3. % hiel
4.&94%13‘{

Question Number : 63 Question Id : 9983674439 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

With which Indian state do you associate the ‘Tanjore’ art?

Options:

1. » Andhra Pradesh
2. v Tamil Nadu

3. = Maharashtra

4. = Kerala

Question Number : 63 Question Id : 9983674439 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

39 3TAR ‘TSl ol fohE 9T Tod & Hetad &7

Options:

1. = 3T 92T
2. v dTHeTE
P

3. » HABNISE
4, = FLoT

Question Number : 64 Question Id : 9983674440 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25




The traditional food ‘Masoor Tenga’ is famous in which Indian
state?

Options:

1. » Kashmir

2. » Maharashtra

3. v Assam

4. = Madhya Pradesh

Question Number : 64 Question Id : 9983674440 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

fore R o # IR #Hieled AT o uiag 87

Options:

1. ® HAN
2. = HENTS¢
3. v 3EH
4. = AT LT

Question Number : 65 Question Id : 9983674441 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Between which two countries the ‘Dead Sea’ is landlocked?

Options:

1. = Israel and South Korea
2. » Israel and North Korea
3. = Israel and Egypt

4. v Israel and Jordan

Question Number : 65 Question Id : 9983674441 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A PR et ar 32t & 9T ffeg &

Options:

1. = ZolIse 3T IT&ToT ST



2. » WIS 3 3cad hIRAT
3. = WIS 3N Aw
4. v FINIEA 3T s

Question Number : 66 Question Id : 9983674442 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The wrong country-capital match among the following is?

Options:

1. = Syria - Damascus

2. v Jordan - Astana

3. » Philippines - Manila
4. = Cyprus - Nicosia

Question Number : 66 Question Id : 9983674442 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0.25

el & & FiT O LU Bel el &7

Options:

1. = GIRAT-EfHALHR
2. v Slsel-37&dTal
3. = TRelTdTa-Hailel
4, » GrEvH-TelerIEaT

Question Number : 67 Question Id : 9983674443 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

NgsT ford IRAT T T g8 A1 H 87

Options:

1. v oJHET
2. = drar
3. = AT




4. = ISl

Question Number : 67 Question Id : 9983674443 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0.25

Nerbudda is the other name for which river in India?

Options:

1. v Narmada
2. = Tapi

3. = Godavari
4. » Chambal

Question Number : 68 Question Id : 9983674444 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

What was the subject of Ghosh Committee appointed by
Government of India?

Options:

1. = International Trade
2. v Bank Frauds

3. = Tax reforms

4. = Public welfare

Question Number : 68 Question Id : 9983674444 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

T THR @Rl oy JfAfT o1 fgfea fora dee & 6 a3
2f?

Options:

1. = RIS SR
2. v S ETUET

3. * & UN

4. » Froelfaleh FHeJToT

Question Number : 69 Question Id : 9983674445 Question Type: MCQ Option Shuffling: Yes




Correct Marks: 1 Wrong Marks: 0.25

In which year Government of India had started MUDRA
(Micro Units Development and Refinance Agency) bank?

Options:

1.« 2015
2. % 2010
3. = 2007
4. = 2001

Question Number : 69 Question Id : 9983674445 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

AT TR o MUDRA (ATSH! JfolcH STelgHc Vs Reged
TS Sk TR ¥ 7 g% foRar or?
Options:

1. v 2015
2. = 2010
3. = 2007
4. = 2007

Question Number : 70 Question Id : 9983674446 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which country assisted India in setting up steel plant in
Rourkela under second five year plan?

Options:

1. = England
2. # France
3. = Russia

4. v Germany

Question Number : 70 Question Id : 9983674446 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



O TTENT ATelell & dad T3Thell H TEITT I TS
Pl H TR 227 of AR T E™AT Fr o417

Options:

1. = Sdolg
2. % W
3. = ®H

4. v STHAT

Question Number : 71 Question Id : 9983674447 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which one of the artificial polymers is known as the artificial
silk?
Options:

1. = PVC

2. v Rayon
3. = Orlon
4. = HDPE

Question Number : 71 Question Id : 9983674447 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

ot # & Sia AT $HTHA g eTh HTAA A & TH § STl
ST 87

Options:

1. = grarar
2. v T
3. = 3Telel
4, = UUSIUS

Question Number : 72 Question Id : 9983674448 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25




The SI unit of charge is:

Options:

1. v Coulomb
2. % Hertz

3. = Ampere
4. = Mho

Question Number : 72 Question Id : 9983674448 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0.25

3TE I S| TR &

Options:

‘I.wEI::_oIH

2. % BEGFJ_
3. » THAORY
4. = Mho

Question Number : 73 Question Id : 9983674449 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The alloy ‘Bell Metal’ is made up of about 78% Copper and
22% of :

Options:

1. » Chromium
2. % ZInc

3. = Aluminium
4. v Tin

Question Number : 73 Question Id : 9983674449 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

ﬁrarm—g:r'a?»rﬁaﬂ*mﬁmm%ﬁwaﬂtzz% & Fr
i &

Options:



1. = AT
2. % STEAT

3. = UegAlTH
4. v e

Question Number : 74 Question Id : 9983674450 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The chemical term alkylbenzenesulfonates refers to which
one of the following house hold material?

Options:

1. = Body spray

2. * Shampoo

3. = Hair conditioner
4. v Detergent

Question Number : 74 Question Id : 9983674450 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

farafe@d # @ fofe e el 1 Tarfas aH

Uecheldaoladethlaac®l (alkylbenzenesulfonates) &7

Options:

1. = §iaT T

2. = Y

3. * gAY FEeEN
4. v f2esie

Question Number : 75 Question Id : 9983674451 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which organization had launched the cyber defence exercise
‘Cyber Coalition 2013°?

Options:




1. » ISRO

2. v NATO
3. = C-DAC
4. » NASA

Question Number : 75 Question Id : 9983674451 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

| TETT 37301 "I aroaedel 2013' fohdl Hatoel o &
fopa ar?

Options:

1. = TET
2. v der
3. = ©T - sredr
4. = oAl

Question Number : 76 Question Id : 9983674452 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Tianhe-2 is the name of developed by China in the year
2013.

Options:

1. v Super Computer
2. = Space Shuttle

3. » Humanoid Robot
4. = Alrcraft

Question Number : 76 Question Id : 9983674452 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

faareg - 2 a¥ 2013 & T ganr faefad R AT &l

Options:

1. v UL Hegdd
s By,




2. = 37dNET e
3. » EgAAIgS VST
4., = &GS SIga

Question Number : 77 Question Id : 9983674453 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The previous name of India’s satellite KALPANA-1 is?

Options:

1. «* RESOURCESAT
2. » MIGSAT

3. = CARTOSAT-1
4. v METSAT-1

Question Number : 77 Question Id : 9983674453 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0.25

AT F 3UPE Fedall -1 FHT YT ATH 87

Options:

1. * RESOURCESAT
2. = MIGSAT

3. = CARTOSAT-1

4. v METSAT-1

Question Number : 78 Question Id : 9983674454 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Where is the headquarters of NATO (North Atlantic Treaty
Organization) located?

Options:

1. = Helsinki, Finland
2. v Brussels, Belgium
3. = Dublin, Ireland



4, = Toronto, Canada

Question Number : 78 Question Id : 9983674454 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

NATO (3cc 3eaifesh Afr TaraeT) T HAEATer Fgl FTud &7

Options:
1. = Belldenl, Mhelels
2. v g8, sfesan
3. = ZaTolel, ITolS
4, = TR, haTsT

Question Number : 79 Question Id : 9983674455 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

In which year, the Reserve Bank of India was established?

Options:

1.+ 1935
2. % 1945
3. = 1949
4. = 1938

Question Number : 79 Question Id : 9983674455 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Wﬁaﬁéﬁ@rwmaﬁﬁg‘é&ﬁ?

Options:

1. v 1935
2. % 1945
3. = 1949
4. = 1938

Question Number : 80 Question Id : 9983674456 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



The Insurance Regulatory and Development authority of India
i1s headquartered in?

Options:

1. * New Delhi
2. = Mumbal

3. » Bangalore
4. v Hyderabad

Question Number : 80 Question Id : 9983674456 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

AT STAT 3R fashra fashaor 1 FEarery el oud &7

Options:

1. » @5 feeall
2. = HES
3. = §ITAIX
4. v LT

Arithmetic Abilityl
Group Number : 5
Group Id : 998367181
Group Maximum Duration : 0
Group Minimum Duration : 0
Show Attended Group? : No
Edit Attended Group? : No
Break time: 0
Group Marks: 20
IsthisGroup for Examiner?: No
Revisit allowed for group Instructions? : Yes
Maximum Instruction Time: 0
Minimum Instruction Time: 0
Arithmetic Ability1
Section Id : 998367187
Section Number : 1

Section type: Online



Mandatory or Optional: Mandatory

Number of Questions: 20

Number of Questionsto be attempted: 20

Section Marks: 20
Sub-Section Number: 1
Sub-Section |d: 998367275
Question Shuffling Allowed : Yes

Question Number : 81 Question Id : 9983674457 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

56 X4.5 X 16% of 500 = x. Find the value of v/x + 9.
Options:

1. v 4

? % 36

bb.
3

L
LA

Question Number : 81 Question Id : 9983674457 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

500 FT 56X 45X 16% = x &1 \/x + 9 & AT IaT F{|

Options:

1. v 45

2 = 36

3 x 25



Question Number : 82 Question Id : 9983674458 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Evaluate:

2 of = of = of Zof 1660 =?
n3 18 10 15

Options:
1. = 23225

Question Number : 82 Question Id : 9983674458 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

g?»rﬁ':

lﬁﬁﬂarrllzn d T D EFF3—?
Mt el T Tl R
Options:

1. = 23225

2 % 230.25



3. » 22825

4. » 22525

Question Number : 83 Question Id : 9983674459 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

814’}{ 212 +84-.8 8
— g’

235.4‘

What should come in the place of (*?")

Options:

1. = 25

2. v L4

3 = 10

Question Number : 83 Question Id : 9983674459 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

814:{ 212 +84-.8 .
- =8

‘233.4-

('?) & TATH 9T FAT HTAT ATMET?
Options:

1. = 25



7 v 14

Question Number : 84 Question Id : 9983674460 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

If (a + i) = 3+/2, then find the value of (a® + a~¢).

Options:
1. = 4096

? % 4144
3.« 4048

A % 4052

Question Number : 84 Question Id : 9983674460 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

It (a+i)=31ﬁ g ar (a®+a"®) & AT 94T F|

Options:

1. % 4096

2 % 4144



3.« 4048

4. » 4052

Question Number : 85 Question Id : 9983674461 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

If 6.605 X 10° = 0.00569 + 0.000915, then find the value of p.

Options:

1. = 2
2. v 3
3.% 3
4 % 2

Question Number : 85 Question Id : 9983674461 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

IfE 6.605 % 107 = 0.00569 + 0.000915 &, & p T AT TaT H|
Options:

1. = 2

2. v -3



Question Number : 86 Question Id : 9983674462 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

(0.01024) X (0.4)1° = (0.4) X (0.004096)2

What should come in the place of (*?7)

Options:

1. = 1

-2
#
bt

Question Number : 86 Question Id : 9983674462 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

(0.01024) X (0.4)1° = (0.4) X (0.004096)2

('?") & TUE 9 FAT HTAT TMET?

Options:



Question Number : 87 Question Id : 9983674463 Question Type: MCQ Option Shuffling: Yes

Correct Marks: 1 Wrong Marks: 0.25
986175 _9

986.175
—— =x, then
0.00016

Options:

1. = 50x
2. % 10
3. % 20

Question Number : 87 Question Id : 9983674463 Question Type: MCQ Option Shuffling: Yes

Correct Marks: 1 Wrong Marks: 0.25

986175 _ 986175
E’% 0.00016 N %—’ H\T 8 )
Options:
1. = 50x

&=



Question Number : 88 Question Id : 9983674464 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Lakshman left 1/11 of his property to his daughter and the remaining to his sons to be equally divided among them. If
the share of each son is double of that of the daughter. find the number of sons Lakshman has.

Options:

1.«

n

? w4

Question Number : 88 Question Id : 9983674464 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

TEHATT F T T9Ted 1 1/11 TFEar 3790 8 # 3T a7 &7 39 937 § e ¥ 9 & e &7
ﬁﬁ‘ﬁﬁ'&rﬁ'qﬁmﬁqﬁdgﬂlmﬁﬂmﬁ,ﬁWﬁ%ﬁ&W#ﬁmaﬁﬁ?

Options:

1. v 5

? = 4

Question Number : 89 Question Id : 9983674465 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



5222 1 A g a1
7 14 14 7 3

What should come in the place of question (*77).

Options:
1

1. = 13

Question Number : 89 Question Id : 9983674465 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25
52 2 : 1 . 11—1—4 'i’+21

7 14 "14 "7 73

(‘?") & TUT 9T FAT AT AMgT?

Options:
1
1. = i3
2
2 % e
2
3. v %



Question Number : 90 Question Id : 9983674466 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Tphely & o B oL : Sy mN
If1+ 2-i- 4+9+19+35 X then find the value of (3x+5)

Options:
1. = —9/64

7 & 9/64
3 = 764

A = 25/64

Question Number : 90 Question Id : 9983674466 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

el 5
£ - (REE UL R R S S LRSS dr (222) & A e
2 4 o 18 8

36 1 3x+5
Options:
1. = -9/64
2. v 9/64
3« 7/64
A = 25/84

Question Number : 91 Question Id : 9983674467 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

What is the least number of the following that, when increased by 18, is divisible by each one of 48, 64, 72 and 1087



Options:
1. v 1710

7 % 1700

3. % 1690

A % 1600

Question Number : 91 Question Id : 9983674467 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

= ¥ 97 TEE oIl §Ed 94, mA 18 Ssa w37 48, 64, 72 A 108 wft & Reanfaw g a2

Options:

1. ¢ 1710
2 %« 1700
3. % 1690
4 % 1600

Question Number : 92 Question Id : 9983674468 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Six bells begin to toll together at the intervals of 8 sec, 12 sec, 15 sec, 16 sec, 18 sec and 20 sec respectively. How
many times will they toll together in the span of 1 hr 48 min (excluding the toll at the start)?

Options:
1. = 10



A = 12

Question Number : 92 Question Id : 9983674468 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

B¢ UfedT FAM: FT T 8 sec, 12 sec, 15 sec, 16 sec, 18 sec 3T 20 sec F HeadlldT 9T TF Y
ST Y HLAT gl 1 hr 48 min H gfear e s =kl (3 # F9= JTel 9é # oIEa)?

Options:

1. = 10
2. v 9
3. = 8
4. % 12

Question Number : 93 Question Id : 9983674469 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

How many numbers are there between 3000 and 5000 that are exactly divisible by 80, 96 and 120?

Note: For this question, discrepancy isfound in question/answer. So,this question isignored for all
candidates.
Options:

2

1.



[~
L

Question Number : 93 Question Id : 9983674469 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

3000 3R 5000 ¥ &r=r ¥ faraetr wEaw € S 80, 96 AR 120 ¥ O e a=F 87

Note: For this question, discrepancy is found in question/answer. So,this question isignored for all
candidates.

oo
1. °
2.5
3. 6
4. 3

Question Number : 94 Question Id : 9983674470 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Ifat:b=c:d=-e:f=1:4, then find the value of (9a+ 15c+ 21e):(9b + 15d + 21f).
Options:
1. = 2:1

? % 1:2



3.v 1:4

4 = 4:1

Question Number : 94 Question Id : 9983674470 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

T a:b=c:d=e:f=1:4%, (9a+15c+21e):(9b+ 15d+ 21f) FT AT TaT HI|

Options:

1. = 2:1
2 % 1:2
3. v 1:4
4. = 4:1

Question Number : 95 Question Id : 9983674471 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The ratio of the 1%t and 229 class train fares between Hyderabad and Delhi is 7 : 1 and that of the number of passengers
travelling between these stations by 1 and 21 classis1:70. If, ona particular day, Rs. 385000 be collected from the
passengers as fares travelling between these two stations, then find the amount collected from 204 ¢lass passengers.

Options:
1. # Rs. 300000

7« Rs. 350000

3. % Rs. 320000



A. % Rs.310000

Question Number : 95 Question Id : 9983674471 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

g A feeel & @1 v Aof A ST Ao & s & e # oaeea 7 17 AR s
T & @ gud Aoh AR gfada Aol & awt Fe arel wEfEt v s 10 70 g1 3k R o
&= &= 3= et F @9 IwC = FTe @l & IO 385000 fReram Fgem T, & e Avofr &
Terarar foRtrar arger Iram?

Options:

1. =TI 300000

2 » T 350000

3. % TOF 320000

4. % TII 310000

Question Number : 96 Question Id : 9983674472 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

35% of is equal to 252% of 1785.

Options:
1. v 1300.5

7 % 1200

3. % 1400.5



A % 1400

Question Number : 96 Question Id : 9983674472 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

35% of is equal to 257 % of 1785.
Options:

1. v 13005

2 % 1200

3 x 14005

A = 1400

Question Number : 97 Question Id : 9983674473 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Bhim’s monthly income is 80% of Anil’s monthly income. The total of both their monthly incomes is Mr. Robert’s
monthly income. Mr. Robert’s annual income is Rs. 1296000. What is Bhim’s monthly income?

Options:
1. % 36000

7 48000

3. % 60000

A % 50000

Question Number : 97 Question Id : 9983674473 Question Type: MCQ Option Shuffling: Yes



Correct Marks: 1 Wrong Marks: 0.25
7 & Tfas 3 3foe $r 718 37 77 80% g1 =t Fr AfEE 3w = Fer &, ar 3w & que Fr
mTifEs 3T B A D¢ Er s s Tad 1296000 F SN Fr mfEw AT uar =Y

Options:

1 % 36000
2. « 48000
3 % 60000
A % 50000

Question Number : 98 Question Id : 9983674474 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Chocolates were distributed to 120 students and 10 teachers of class IX of a particular school. Each student got
chocolates that are 30% of the total number of students and each teacher got chocolates that are 40% of the total number
of students. How many chocolates were distributed?

Options:
1. v 4800

7 % 4000

3. % 3600

A % 3000

Question Number : 98 Question Id : 9983674474 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

TS THe A el IX & 120 orEr 3R 10 R @1 awee Baia e v g3 o @ $a o &
HET HT 30% o FE AT Tw Rt B Fa o H G H 40% Ao FHer Fo e
Terele faafyd T 22



Options:

1. « 4800
2 % 4000
3. % 3600
A« 3000

Question Number : 99 Question Id : 9983674475 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The average score of the students of class X of a school in a test was 61.9. The brightest 30% of them secured the mean
score of 85 and the dullest 35% secured the mean score of 33. The mean score of the remaining students is:

Options:
1. = 70

7w T2
3 ¢ 71

4 = 73

Question Number : 99 Question Id : 9983674475 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

U THel H FET X & UF T # o #1 AAd TR 61.9 U7| 3FH W TEH @A 30% & 85 &
taa =R BT il g9 FASR 35% 7 33 F e TR G ahr 3= o & e =R oaan
el

Options:



2 w 72
3. v 7
4 = 73

Question Number : 100 Question Id : 9983674476 Question Type: MCQ Option Shuffling: Yes

Correct Marks: 1 Wrong Marks: 0.25

10 years ago, the average of age of Ragini and of Roshini was 40 years. Now, the average of ages of Ragini, Roshini
and Rupa is 50 yvears. What will be the age of Rupa after 30 vears?

Options:
1. = 60 years

? 80 years

2w 50 vears

4. = 75 years

Question Number : 100 Question 1d : 9983674476 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

10 FTer 9ge, TR 3T Terlt & 3mg 7 Jiwa 40 @ o ww afEEn, deel sk wwr @ altee ag
50 W& g1 30 WM & aME T H HY FT gAY

Options:

1. = 60 |\



2 80 m

3. w50 |re
A, = 75 T
Arithmetic Ability2
Group Number : 6
Group Id: 998367182
Group Maximum Duration : 0
Group Minimum Duration : 0
Show Attended Group? : No
Edit Attended Group? : No
Break time: 0
Group Marks: 20
Isthis Group for Examiner?: No
Revisit allowed for group Instructions? : Yes
Maximum Instruction Time: 0
Minimum Instruction Time: 0
Arithmetic Ability2
Section Id : 998367188
Section Number : 1
Section type: Online
Mandatory or Optional: Mandatory
Number of Questions: 20
Number of Questionsto be attempted: 20
Section Marks: 20
Sub-Section Number: 1
Sub-Section 1d: 998367276
Question Shuffling Allowed : Yes

Question Number : 101 Question Id : 9983674477 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Find the percentage of loss when the cost price and the selling of an article are in the ratio of 7:5..

Options:



1 « 25%%
2w 25%%

7 28%%

A v 28‘-;%

Question Number : 101 Question Id : 9983674477 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

S Ue 95 $ #9707 AN e qmm & agaa 7:5 @, a @ifer wiowe aar

Options:

4
1_ % 25;%

3
2. . 25;%

3¢
3« 28?;‘5

40
4. o 28? Yo

Question Number : 102 Question Id : 9983674478 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Rohit sold a table fan at a gain of 20%. Had he bought it for 30% less and sold it for Rs. 120 less. he would have made a
profit of 50%. The cost price of table fan was:

Options:



1. v Rs. 800

7 % Rs. 900

3. % Rs.700

A % Rs.600

Question Number : 102 Question Id : 9983674478 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Ve & v T B 20% HA® F Wy a7 fG7r| afy 3@ 37 30% wEAr @ier @ar H 3@ 397 120
TEAT ST T, @ 50% WA | Sael el 1 HT Hed Tl HA

Options:
1. v I 800
2 % T9F 900
3. = T9¥ 700
4. = T 600

Question Number : 103 Question 1d : 9983674479 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

On selling an article for Rs. 5299.60, the gain is 40% more than the loss incurred on selling it for Rs. 4750. In order to
gain 40%, the selling price should be:

Options:
1. # Rs.5970.6



7 % Rs. 4979

3« Rs.6970.6

A % Rs.6790.6

Question Number : 103 Question Id : 9983674479 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

T TG N TIY 5299.60 F FTT § 3 ITUH 4750 H a9 W g AT JHA F HwrEer HATH 40%
3o & 81 40% 1 FATH AR & T aFg F G Fqea Fhaer g miige?

Options:

1. =« T9¥ 5970.6

2 % T 4979

3. v TIU 6970.6

4. % TII 6790.6

Question Number : 104 Question Id : 9983674480 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A shopkeeper allows a discount of 20% on the marked price. How much above the cost price must he mark his goods
50 as to gain 25%7?

Options:
1. & 40%

v 56.25%
2.



3. % 45%

% 40.25%
=

Question Number : 104 Question Id : 9983674480 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

T GHAGK g ﬁMWED%ﬁ?H%Iﬁ%%WW#%’WMWWm

Ao feraatr derar grem?
Options:
1. = 40%

2. ¢ 56.25%

3. % 45%

4. % 40.25%

Question Number : 105 Question Id : 9983674481 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

If a commission of 20% is given on the marked price of an article, the gain is 40%. The gain percent, when the
commission is increased to 40%, will be:

Options:
1. ¢ 5%

? % 6%

3. % 7%



4 = 8%

Question Number : 105 Question Id : 9983674481 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

ofg v arg F Ao AoT W 20% e & S B, & JArwr 40% T ¥l BT 40% F 9 T
Sfcrera 9ar F

Options:
1. v 5%
2 % 6%
3. % 7%
4. = 8%

Question Number : 106 Question Id : 9983674482 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

TTTIOT =0T €7 O 9 5336 & Tfer 10 gret & T93r 9338 g Jrar 21 2T gfgerg 9ar &4l

Options:

1. = 85%

2 x 8%

3. v 7.5%



4 = 7%

Question Number : 106 Question Id : 9983674482 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A sum of Rs. 5336 amounts to Rs. 9338 in 10 years at the rate of simple interest. Find the rate percent.
Options:
1. & 8.5%

? % 8%

3 v 7.5%

4 = 7%

Question Number : 107 Question Id : 9983674483 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A certain sum at simple interest amounts to Rs. 2700 in 10 years and to Rs. 3240 in 16 vears. Find the original sum.
Options:
1. ®= Rs. 1500

7 % Rs.2000

3. % Rs.900

A Rs. 1800

Question Number : 107 Question Id : 9983674483 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0.25

WYROT 20 R U AT af¥r 10 @mel & w9 2700 3R 16 @met & T99 3240 & =dr g1 7qe I
qdr F|



Options:

1. % w9 1500
2. % TIH 2000
3. % TIF 900
4. » T 1800

Question Number : 108 Question Id : 9983674484 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The principal on which a simple interest of Rs. 275 will be obtained after 18 months at the rate of 3% % per annum is:
Options:
1. « 5000

7 % 4000
3. % 6000

A = 4500

Question Number : 108 Question Id : 9983674484 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

32 9% gfead @ ¥ 18 & & a1g T 275 WUROT &1t fHela 8, SHH Ul Tar Hi
Options:

1. « 5000



2 % 4000

3. % 6000

4. % 4500

Question Number : 109 Question Id : 9983674485 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

We need to divide the amount of 13010 between P and Q, so that the amount of P after 7 years is equal to the amount of
Q after 9 years. the interest being compounded at 4% per annum. So the shares of P and Q, respectively, will be:

Options:
1. % 7500,5510

9 % 6500, 6510

3 % 5000, 8010

4. v 6760, 6250

Question Number : 109 Question 1d : 9983674485 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

FTHTIT 13010 TR F P 3T Q F o s 9T T a1aT a7 ¢ & 7 @il & a1 P v ufdr 9 @relr &
a1 Q F T F T @, S & 4% TEw I3ger BT gefh sefow sre s F P AR Q #
fear fraer e

Options:

1. = 7500, 3510

2 « 6500, 6510



3 % 5000, 8010

4 o 6760, 6250

Question Number : 110 Question Id : 9983674486 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

If Rs. 6000 amounts to Rs. 8640 at compound interest in a certain time, then the same amount would become how much
in half the time?

Options:
1. ¥ Rs. 7200

7 % Rs. 8000

3. % Rs. 8200

A. % Rs. 7500

Question Number : 110 Question Id : 9983674486 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Ife v ffYag gug & BT s 9T T99 6000 s T99 8640 g I &, o 3T §FT H TEr

afsr faer gr Seem?
Options:

1. v T9T 7200
2 % TIF 8000

3. % T 8200



4. % TIF 7500

Question Number : 111 Question Id : 9983674487 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

What will be the surface area of the sphere having radius of 16 cm?
Options:

1 « 3228§ cm?
9w 3128§ cm?
3 3218§ cm?

A« 3220§ cm?

Question Number : 111 Question Id : 9983674487 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

16 cm 3EeTTd F e HT JSOIT &S kel TaT HL?
Options:

32282 cm?
1. = 7

5w 3128% cm?

3 v 3218§ cm?



4w 322ﬂ§cm2

Question Number : 112 Question Id : 9983674488 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Raj’s cap is in the form of a right circular cone of base radius 14 cm and height 48 cm. Find the area of the sheet
required to make 15 such caps.

Options:
1. « 33000 sq. cm.

2 x 3300sq. cm.
2w 6300 sq. cm.

4 = 3600 sq. cm.

Question Number : 112 Question 1d : 9983674488 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

T & 2 FT I’FR TH JeaehR o0F g, Toras HTUR &1 HIad 14 cm AR 5915 48 om g1 O
15 AT g9 & BT 3Eus ofie & &9%a 9ar F1)

Options:

1. «~ 33000 sq. cm.

2 « 3300 sq.cm.

3.« 6300 sq.cm.

A. = 3600 sqg. cm.



Question Number : 113 Question Id : 9983674489 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25
If the radius of a sphere is increased by 15%, then what percent increase takes place in the surface area of the sphere?

Options:
1. & 31.25%

7 & 32.25%

Question Number : 113 Question Id : 9983674489 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

T Orete & e 15% FeT &A1 ST, df 9o & ISl AT ke H fohdel Widerd serddr gren?

Options:

1. = 31.25%

2 v 32.25%

3. % 30%

4. = 25%

Question Number : 114 Question 1d : 9983674490 Question Type: MCQ Option Shuffling: Yes

Correct Marks: 1 Wrong Marks: 0.25

A worker is paid Rs. 1120 for 35 hour-week. Upto 40 hours, he is paid at the normal rate and, on post that, 1.5 times the
normal. How many hours would he have to work to get Rs. 17607

Options:



1. « 50 hours

? % 40 hours

3 % 355 hours

4. = 60 hours

Question Number : 114 Question Id : 9983674490 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

U HHF F 35 gC-meag & AT T 1120 & spErar GRar ST g1 40 €e 7, 38 AT & &
T foRam e § 3 38 a1 FREEE F 1.5 T e fRAT S €1 T 1760 Srod #A % orw
3T Fae 9 #1H AT gen?

Options:
1. v 50 g
2 % 40 @
3 x 55 EE
A % 60 =

Question Number : 115 Question Id : 9983674491 Question Type: MCQ Option Shuffling: Yes

Correct Marks: 1 Wrong Marks: 0.25

20 men can complete a piece of work in 16 days. 40 women can complete the same piece of work in 12 days. In how
many days 32 men and 36 women together can complete the same piece of work?

Options:

1 = 2% days



% u 4; days
3 o 5% days

4. » 5days

Question Number : 115 Question Id : 9983674491 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

20 HTEHT T FHH H 16 AT F [ X TFA ¢ 40 AgenT 38 FH FH 12 AT F [ FT FHAT &
32 3EAT AR 36 AfgeT TH Ty FFT 3 FA F haw G 7 W W THS 82

Options:

1.« R

Question Number : 116 Question Id : 9983674492 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The length of a train and that of a platform are equal. If, with a speed of 150 kmph, the train crosses the platform in
1 minute, then the length of the train is:

Options:
1. «+ 1250m

? s 2500m



3. % 3000m

4 % 2000m

Question Number : 116 Question Id : 9983674492 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Tl TS Fr FEE AR woewn 1 FEs UH e g1 I 150 kmph FF Afg & oemdr 1 e #
THERIE F IR FIAT g, ar JeemEr Hr FEE T49r S

Options:

1. » 1250 m
2« 2500 m
3. = 3000 m
4. = 2000 m

Question Number : 117 Question Id : 9983674493 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Sneha on her bicycle covered a certain distance in 10 hours. While returning, her speed decreased by 4 kmph and she
took 12 hours to cover the same distance. What was her speed while returning?

Options:
1. % 15kmph

2 % 25 kmph

3 » 20kmph



4. % 10kmph

Question Number : 117 Question Id : 9983674493 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

8T HOe @i )10 vt & ve fAfea g a9 e §) =8 arow g, 3% A 4 kmph @
STl & AR 3® Y g a7 F F 12 U 9O §1 99 A gU 3EH A T H)

Options:

1. = 15 kmph

2« 25 kmph

3. 20 kmph

4. = 10 kmph

Question Number : 118 Question Id : 9983674494 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The ratio of speed of a train and that of a car is 32 : 31. A bus covered a distance of 960 km in 16 hours. The speed of
the bus is 3/4%® of the speed of the train. How much distance will be covered by the car in 12 hours?

Options:
1. = 900 km

? « 930 km

3 % 850 km

/. % 800km



Question Number : 118 Question Id : 9983674494 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

v Yoremd HR v FR A Al F AT 32: 3181 U a9 960 km #r g 16 wer F FT w g
57 #1 71fa Toemer #r afy #r 3/4 §) FX 12 g F o gff a7 FEh?

Options:
1. % 900 km
2 » 930 km
3. % 850 km
4. % 800 km

Question Number : 119 Question Id : 9983674495 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25
Study the following table and answer the question based on it.

Number of Candidates Appeared, Qualified and Selected in Telangana State Public service commission Examination
from Five districts Over the Years 2014 to 2018

& Hyderabad | Rangareddy | Warangal | MahaboobnaarA Nalgonda
ear

App |Qual|Sel App Qual; Sel| App |Qual|Sel| App |Qual| Sel| App |Qual Sel
2014 [ 4000 | 425 | 473900 405 (413750 | 360 | 39| 4100 | 340 | 43|3200| 350 38

2015 | 2400 | 250 | 24| 3750 400:33 2800 310 | 43| 3400 | 300 | 35 3550 325 |38
2016 | 3750 | 320 [ 41| 3700( 280 | 352400 | 200 | 24| 3250 | 263 | 33 | 2600| 175 |28

2017 | 4750 | 425 | 45| 4400| 460 |43 | 3500 | 325 | 35| 3900 | 360 423200 270 |30
2018 | 4500 | 400 | 35 3600 | 425 |38|4250 475 :40 2850 | 243 | 30| 2250 300 | 38

From which district the average number of candidates selected over the years is maximum?

Options:
1. » Rangareddy



7 % Warangal
3 Hyderabad

/. % Mahaboobnaar

Question Number : 119 Question Id : 9983674495 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

T Aol 1 eaTa w7 AT sHF 3TUR W AT F° 31 &)

mzomﬁzmaamﬁzrﬁaﬁﬁamm@mmmﬁﬁmaﬂrmﬁagc
it Fr e

¥ |07 | g |98 |3 | mafeT (@8 | 3T | wafee |98 | BT | el (¥ | T | safee
2014 | 4000 | 425 |47 3900 [ 405 |41 3750 (360 |39 4100|340 |43 3200|350 |38
2015 (2400|250 |24 3750 (400 |33 2800 (310 |43 3400|300 |35 3550|325 |38
2016 | 3750 (320 |41 3700|280 |35 2400 [ 200 |24 3250|263 |33 2600|175 |28
2017 | 4750|425 |45 4400 (460 |43 3500 [ 325 |35 3900|360 |42 3200|270 |30
2018|4500 | 400 |35 3600 (425 |38 4250 [ 475 |40 2850|243 |30 2250|300 |38

Tl Tl 7 5N ¥ 5w B9 F gfemdt wew 3w g aw 22

Options:
1. = I LEE
2 o« AT




Question Number : 120 Question Id : 9983674496 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25
Study the following table and answer the question based on it.

Number of Candidates Appeared, Qualified and Selected in Telangana State Public service commission Examination
from Five districts Over the Years 2014 to 2018

Hyderabad | Rangareddy | Warangal | Mahaboobnaar| Nalgonda

App |Qual|Sel| App |Qual|Sel| App |Qual|Sel| App | Qual| Sel| App |Qual Sel
2014 | 4000 | 425 | 47|3900 | 405 | 413750 | 360 | 39| 4100 | 340 | 43 | 3200 350 |38

Year

2015 | 2400 | 250 | 24| 3750| 400 | 33 | 2800 | 310 | 43| 3400 | 300 | 35| 3550 325 | 38
2016|3750 | 320 [ 41| 3700| 280 (352400 | 200 | 24| 3250 | 263 | 33| 2600| 175 |28

2017 | 4750 | 425 45?4400 460 |43 13500 | 325 | 35| 3900 | 360 | 42| 3200| 270 | 30
2018 {4500 | 400 | 35| 3600 | 425 | 38 1 4250 | 475 | 40| 2850 | 243 | 30 | 2250 300 | 38

In the year 2014, which district had the lowest percentage of candidates selected over the candidates appeared?

Options:
1. » Warangal

? % Mahaboobnaar

3 » Rangareddy

/. » Hyderabad

Question Number : 120 Question Id : 9983674496 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



e |l F 1 3eams FY AT SHF YR W wRAT # Iea &

Trer 2014 ¥ 2018 T 919 Toel ¥ J=aT I=F & mmﬁﬁﬁ,ﬁmﬁ'ﬁ?m?
qyenfEat &1 =

& || mfae | §%  |3T| sofae | &% |t | oafae |88 | st safae | # | s | el
2014 | 4000 (425 |47 3900 (405 |41 3750 (360 |39 4100 (340 |43 3200|350 |38
20152400250 |24 3750 (400 |33 2800 (310 |43 3400|300 |35 3550|325 |38
2016 | 3750|320 |41 3700|280 |35 2400 (200 |24 3250|263 |33 2600|175 |28
2017 | 4750|425 |45 4400 [ 460 |43 3500 (325 |35 3900|360 |42 3200|270 |30
2018 | 4500|400 |35 3600|425 |38 4250 (475 | 40 2850|243 |30 2250|300 |38

| 2014 #, s ¥ 5w oo @ 9w F 95 9fential § ¥ g9 e ae Sdenadr H §ear giaud
HEH FH 27

Options:

1. v TET

2_ ® En. '
3 % ERES

General Englishi

Group Number : 7

Group Id: 998367183
Group Maximum Duration : 0

Group Minimum Duration : 0

Show Attended Group? : No

Edit Attended Group? : No

Break time: 0

Group Marks: 20
IsthisGroup for Examiner?: No

Revisit allowed for group Instructions? : Yes



Maximum Instruction Time: 0
Minimum Instruction Time: 0

General Englishil

Section Id : 998367189

Section Number : 1

Section type: Online

Mandatory or Optional: Mandatory

Number of Questions; 20

Number of Questionsto be attempted: 20

Section Marks: 20
Sub-Section Number: 1
Sub-Section 1d: 998367277
Question Shuffling Allowed : Yes

Question Number : 121 Question Id : 9983674497 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Fill in the blanks with the most appropriate word.

The spider the fly in its intricate web.

Options:

1. v entangled
2. % entailed
3. % ensured

4. = enthralled

Question Number : 121 Question 1d : 9983674497 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Fill in the blanks with the most appropriate word.

The spider the fly In its intricate web.

Options:

1. v entangled



2. » entailed
3. = ensured
4. = enthralled

Question Number : 122 Question Id : 9983674498 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Fill in the blanks with the most appropriate word.

It is not polite behaviour to when someone is talking.

Options:

1. = cut off
2. % cut up
3.vcutin
4. = cut on

Question Number : 122 Question 1d : 9983674498 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Fill in the blanks with the most appropriate word.

It 1s not polite behaviour to when someone Is talking.

Options:

1. = cut off
2. % cut up
3. ¢ cut In

4. = cut on

Question Number : 123 Question Id : 9983674499 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Fill in the blanks with the most appropriate word.

We were shocked to learn that Arjun had been on the
of a nervous breakdown last month.

Options:

1. = brim
2. v brink
3. = brief
4. = bridge

Question Number : 123 Question Id : 9983674499 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Fill in the blanks with the most appropriate word.

We were shocked to learn that Arjun had been on the

of a nervous breakdown last month.

Options:

1. = brim
2. v brink
3. % brief
4. = bridge

Question Number : 124 Question Id : 9983674500 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Fill in the blanks with the most appropriate word.

The meeting was held to the employees that they would
be paid all their dues after the take-over.
Options:

1. = realign



2. % recall
3. ® reason
4. v reassure

Question Number : 124 Question Id : 9983674500 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Fill in the blanks with the most appropriate word.

The meeting was held to the employees that they

would be paid all their dues after the take-over.

Options:

1. = realign
2. % recall
3. % reason

4. v reassure

Question Number : 125 Question Id : 9983674501 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the correct meaning of the idiom given.

Go the whole hog

Options:

1. = walk a long distance without stopping

2. v to do something as completely as possible

3. = eat a lot without hesitation or shyness

4. = talk without giving others a chance to speak

Question Number : 125 Question 1d : 9983674501 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Select the correct meaning of the idiom given.

Go the whole hog

Options:

1. = walk a long distance without stopping
2. v to do something as completely as possible
3. = eat a lot without hesitation or shyness

4, = talk without giving others a chance to speak

Question Number : 126 Question Id : 9983674502 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the grammatically correct option to fill in the blanks.

Though she has bought villa in Goa she lives for most of
year in Mumbal.

Options:

1. = the, a
2. v 4, the
3. % @, an
4. = an, the

Question Number : 126 Question Id : 9983674502 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the grammatically correct option to fill in the blanks.

Though she has bought villa in Goa she lives for
most of year in Mumbal.
Options:

1. = the, a



2. v a, the
3. % a, an

4, = an, the

Question Number : 127 Question 1d : 9983674503 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the grammatically correct option to fill in the blanks.

For breakfast Sudhir wanted to have ege and two slices
of toast.

Options:

1. = an, the

2. % a,a

3. v an, no article
4. = no article, a

Question Number : 127 Question Id : 9983674503 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the grammatically correct option to fill in the blanks.

For breakfast Sudhir wanted to have egg and two
slices of toast.
Options:

1. = an, the
2. % a, a
3. ¥ an, no artcle

4. = no article, a

Question Number : 128 Question Id : 9983674504 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Select the grammatically correct option to fill in the blanks.

The problem lliteracy weighs heavily our
conscience.

Options:

1. = for, with
2. = for, in
3. = of, by
4. v of, on

Question Number : 128 Question Id : 9983674504 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the grammatically correct option to fill in the blanks.

The problem lliteracy weighs heavily our

conscience.

Options:

1. = for, with
2. = for, In
3. = of, by
4. ¢ of, on

Question Number : 129 Question Id : 9983674505 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the grammatically correct option to fill in the blanks.

It has been a week since Sai has been suffering a bad
cough and fever.

Options:

1. v from



2. % with
3. = 0n
4. = by

Question Number : 129 Question Id : 9983674505 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the grammatically correct option to fill in the blanks.

It has been a week since Sai has been suffering a

bad cough and fever.

Options:

1. v from
2. % with
3. % 0n

4. = by

Question Number : 130 Question Id : 9983674506 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the grammatically correct option to fill in the blanks.

Riya will get opportunities to take up a job of her choice
in Delhl.

Options:

1. v better

2. » hest

3. = more better
4. = most best

Question Number : 130 Question Id : 9983674506 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Select the grammatically correct option to fill in the blanks.

Riya will get opportunities to take up a job of her

choice In Delhi.

Options:

1. v better

2. = best

3. ®* more better
4.

* most best

Question Number : 131 Question Id : 9983674507 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the grammatically correct option to fill in the blanks.

Since she is getting old she a three-pronged stick to
walk.

Options:

1. = use

2. = using

3. v uses

4. = has used

Question Number : 131 Question Id : 9983674507 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the grammatically correct option to fill in the blanks.

Since she Is getting old she a three-pronged stick

to walk.

Options:



1. = use
2. % using
3. ¥ uses
4. * has used

Question Number : 132 Question Id : 9983674508 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the grammatically correct option to fill in the blanks.

While dusting he the glass top of the table, we will have
to get it repaired.

Options:

1. = broken

2. v broke

3. = have broken
4. = will break

Question Number : 132 Question Id : 9983674508 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the grammatically correct option to fill in the blanks.

While dusting he the glass top of the table, we will

have to get It repaired.

Options:

1. = broken

2. v broke

3. * have broken
4

. % will break



Question Number : 133 Question 1d : 9983674509 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the grammatically correct option to fill in the blanks.

Raju has not applied for admission to this college.

Options:

1. = As far I know
2. » Far as I know
3. = How far I know
4. v As far as I know

Question Number : 133 Question Id : 9983674509 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the grammatically correct option to fill in the blanks.

Raju has not applied for admission to this college.

Options:

1. = As far | know
2. = Far as | know
3. = How far | know

4. v As far as | know

Question Number : 134 Question Id : 9983674510 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the grammatically correct option to fill in the blanks.

The hostel room was small comfortable.

Options:

1. v but
2. % also



3. = only
4, = if

Question Number : 134 Question Id : 9983674510 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the grammatically correct option to fill in the blanks.

The hostel room was small comfortable.

Options:

1. v but
2. % also
3. ® only
4. = if

Question Number : 135 Question Id : 9983674511 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the grammatically correct option to fill in the blanks.

You ought to take a break, ?

Options:

1. = should you
2. = you should
3. v shouldn’t you
4. = you shouldn’t

Question Number : 135 Question 1d : 9983674511 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the grammatically correct option to fill in the blanks.

You ought to take a break, 7



Options:

1. = should you
2. # you should
3. v shouldnt you

4, = you shouldn’t

Question Number : 136 Question Id : 9983674512 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Given below are four segments of a sentence. Select the
option that gives the correct order of the segments to form

a logical sentence.

A. of interconnected networks
B. computers are a system
C. to one another

D. which communicate information

Options:

1. v BADC
2. = BCDA
3. = ADCB
4. = BCAD

Question Number : 136 Question Id : 9983674512 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Gliven below are four segments of a sentence. Select the option
that gives the correct order of the segments to form a logical
sentence.

A. of interconnected networks

B. computers are a system

C. to one another

D. which communicate information

Options:

1. v BADC
2. » BCDA
3. = ADCB
4. = BCAD

Question Number : 137 Question 1d : 9983674513 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Given below are four segments of a sentence. Select the option
that gives the correct order of the segments to form a logical
sentence.

A. which at some stage

B. we can shape and mould

C. plastics are organic materials
D. according to our need

Options:

1. = ADBC
2. v CABD
3. = BCDA
4. = CBDA

Question Number : 137 Question Id : 9983674513 Question Type: MCQ Option Shuffling: Yes



Correct Marks: 1 Wrong Marks: 0.25

Given below are four segments of a sentence. Select the
option that gives the correct order of the segments to form

a logical sentence.

A. which at some stage
B. we can shape and mould
C. plastics are organic materials

D. according to our need

Options:

1. = ADBC
2. v CABD
3. = BCDA
4. = CBDA

Question Number : 138 Question Id : 9983674514 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Gliven below are four segments of a sentence. Select the option
that gives the correct order of the segments to form a logical
sentence.

A. the people of India

B. whatever region

C. they come from

D. love their traditions and culture

Options:

1. = BADC
2. v BCAD



3. = CABD
4. » ABDC

Question Number : 138 Question Id : 9983674514 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Given below are four segments of a sentence. Select the
option that gives the correct order of the segments to form

a logical sentence.

A. the people of India
B. whatever region
C. they come from

D. love their traditions and culture

Options:

1. = BADC
2. v BCAD
3. = CABD
4. = ABDC

Question Number : 139 Question Id : 9983674515 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Gliven below are four segments of a sentence. Select the option
that gives the correct order of the segments to form a logical
sentence.

A. there should be

B. like health and power

C. on strikes in essential services
D. a complete ban



Options:

1. = ACDB
2. = DCBA
3. v ADCB
4. = DBCA

Question Number : 139 Question 1d : 9983674515 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Given below are four segments of a sentence. Select the
option that gives the correct order of the segments to form

a logical sentence.

A. there should be
B. like health and power
C. on strikes In essential services

[D. a complete ban

Options:

1. = ACDB
2. = DCBA
3. v ADCB
4. = DBCA

Question Number : 140 Question Id : 9983674516 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Gliven below are four segments of a sentence. Select the option
that gives the correct order of the segments to form a logical
sentence.

A. can be higher indoors than outdoors
B. clearly shows that

C. recent research on air pollution

D. concentrations of many air pollutants

Options:

1. v CBDA
2. » DBCA
3. = CABD
4. = ABDC

Question Number : 140 Question Id : 9983674516 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Given below are four segments of a sentence. Select the
option that gives the correct order of the segments to form

a logical sentence.

A. can be higher indoors than outdoors
B. clearly shows that
C. recent research on air pollution

D). concentrations of many air pollutants

Options:

1. v CBDA
2. = DBCA
3. = CABD



4. = ABDC
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Question Number : 141 Question 1d : 9983674517 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the most appropriate synonym of the underlined word

Some people think the legal profession is a lucrative business.

Options:

1. = risky

2. v profitable
3. ® serious



4. = perilous

Question Number : 141 Question Id : 9983674517 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the most appropriate synonym of the underlined word

Some people think the legal profession 1s a lucrative

business.

Options:

1. = rnisky
2. v profitable
3. * serious

4. = perilous

Question Number : 142 Question Id : 9983674518 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the most appropriate synonym of the underlined word.

People in smaller towns need to be apprised of the advantages
of sanitation and healthcare.

Options:

1. v informed
2. » scolded

3. = cautioned
4. » henefitted

Question Number : 142 Question Id : 9983674518 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Select the most appropriate synonym of the underlined word.

People In smaller towns need to be apprised of the

advantages of sanitation and healthcare.

Options:

1. v Informed
2. % scolded

3. # cautioned
4.

% benefitted

Question Number : 143 Question Id : 9983674519 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the most appropriate synonym of the underlined word.

The two countries have signed mutual treaties for trade and
commerce.

Options:

1. = lateral
2. v joint
3. » lasting
4. = fixed

Question Number : 143 Question Id : 9983674519 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the most appropriate synonym of the underlined word.

The two countries have signed mutual treaties for trade and

CoOmmerce.

Options:



1. = |ateral
2. v joint
3. = lasting
4. = fixed

Question Number : 144 Question Id : 9983674520 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the most appropriate synonym of the underlined word.

One of the severe causes of pollution In large cities is the
carbon dioxide that cars emit.

Options:

1. = employ
2. = fuel

3. v release
4. = charge

Question Number : 144 Question Id : 9983674520 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the most appropriate synonym of the underlined word.

One of the severe causes of pollution In large cities Is the

carbon dioxide that cars emit.

Options:

1. = employ
2. » fuel
3. v release

4, = charge



Question Number : 145 Question 1d : 9983674521 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the most appropriate synonym of the underlined word.

Abhishek 1s looking commensurate with his education and

experience.

Options:

1. = starting
2. v matching
3. = learning
4. = paying

Question Number : 145 Question 1d : 9983674521 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the most appropriate synonym of the underlined word.

Abhishek is looking commensurate with his education and
experience.

Options:

1. = starting
2. v matching
3. = learning
4. = paying

Question Number : 146 Question Id : 9983674522 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the most appropriate antonym of the underlined word.

Due to the proliferation of adulterants people have started
looking for organic foods.




Options:

1. v scarcity
2. ® Increase
3. » abundance
4. = production

Question Number : 146 Question Id : 9983674522 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the most appropriate antonym of the underlined word.

Due to the proliferation of adulterants people have started

looking for organic foods.

Options:

1. v scarcity
2. * |ncrease
3. * abundance
4,

* production

Question Number : 147 Question Id : 9983674523 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the most appropriate antonym of the underlined word.

The functions of a computer are analogous to those of the
human brain.

Options:

1. = complex

2. % intricate
3. v different
4. = dense



Question Number : 147 Question Id : 9983674523 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the most appropriate antonym of the underlined word.

The functions of a computer are analogous to those of the

human brain.

Options:

1. = complex
2. % Intricate
3. ¢ different

4. = dense

Question Number : 148 Question Id : 9983674524 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the most appropriate antonym of the underlined word.

The sharp decline in the habit of reading among children
must be deprecated.

Options:

1. v approved

2. % increased
3. = Informed
4. = denounced

Question Number : 148 Question Id : 9983674524 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Select the most appropriate antonym of the underlined word.

The sharp decline in the habit of reading among children

must be deprecated.

Options:

1. v approved
2. ® Increased
3. # Informed
4. = denounced

Question Number : 149 Question Id : 9983674525 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the most appropriate antonym of the underlined word.

Girija has the tendency to exaggerate everything.

Options:

1. v understate
2. = expand

3. * magnity
4. = boost

Question Number : 149 Question Id : 9983674525 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the most appropriate antonym of the underlined word.

Girja has the tendency to exaggerate everything.

Options:

1. v understate



2. #» expand
3. * magnify

4. = boost

Question Number : 150 Question Id : 9983674526 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the most appropriate antonym of the underlined word.

All forms of violence must be abhorred.

Options:

1. = corrected

2. = punished
3. v adored
4, = hated

Question Number : 150 Question Id : 9983674526 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the most appropriate antonym of the underlined word.

All forms of violence must be abhorred.

Options:

1. = corrected

2. % punished
3. v adored
4. = hated

Sub-Section Number: 2
Sub-Section 1d: 998367279
Question Shuffling Allowed : Yes



Question Id : 9983674527 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (151 to 155)

Question Label : Comprehension



Read the passage and answer the question given below it:

Last month, the Event Horizon Telescope (EHT) collaboration
showed the world the ‘unseeable’: the very first image of a
black hole. Of course, the black hole itself cannot be seen,
because light cannot escape its intense gravitational
attraction. The so-called event horizon that envelops the black
hole is the point of no return and any object transgressing
this boundary is lost. Just outside is a region where a photon
(light quantum) can orbit the black hole without falling in.
This is called the ‘last photon ring’, and this is what the EHT
imaged, seeing in effect the silhouette of a black hole. Visual
proof of the existence of black holes comes a century after
they appeared in scientific literature. In a collaborative effort,
eight telescopes around the world were used for the
experiment. The challenges included making each observe the
same broad range of wavelengths around 1.3 mm and having
precise atomic clocks at each location, so the data could be
combined.

A black hole marks the end of space time as commonly
understood, and nothing that enters it can escape from the
tremendous gravitational attraction. However, this is no real
danger, as black holes are located at distances that humans do
not have the power to scale. The EHT set out to image two
candidate supermassive black holes — Sagittarius A, which is
26,000 light years from the earth, at the centre of the Milky
Way, and another which is 55 million light years away at the
centre of the Messier 87 galaxy in the Virgo galaxy cluster. But
the first image was of the more distant one. The very long
baseline interferometry technique linked radio dishes of
telescopes across the world to produce a virtual telescope the
size of the earth. This was needed to obtain the high
resolution required for this measurement. Combining data
from telescopes, each with different characteristics, was a
separate challenge. Cutting-edge developments from
computer science related to image recognition were used. As
Katie Bouman, Assistant Professor at the California Institute
of Technology, who led the efforts to develop an algorithm to
put the data together and create the image, said in a talk,
projects such as the EHT succeed owing to interdisciplinary
expertise that people bring to the table. This experiment
endorses the diversity of collaboration just as much as it does
unrelenting patience and good faith in the power of science
and reason.



Sub questions

Question Number : 151 Question Id : 9983674528 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The ‘black hole’ gets its name from the fact that:

Options:

1. = there is darkness all around it

2. v 1t cannot actually be seen

3. = sclentists have not found out where it is
4. = it is black in colour

Question Number : 152 Question Id : 9983674529 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

This passage is mainly about:

Options:

1. v the collaborative effort of many countries

2. = the search for a rare phenomenon

3. = using science to create unusual models

4. = the attempts of scientists to save human beings

Question Number : 153 Question 1d : 9983674530 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The event being described in the passage was sighted through:

Options:

1. v a giant virtual telescope
2. = precise atomic clocks

3. » radio dishes

4. = an algorithm

Question Number : 154 Question 1d : 9983674531 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The first image was of ‘the more distant one’ refers to:

Options:

1. v The black hole



2. = The telescope
3. * The earth
4. = The antenna

Question Number : 155 Question Id : 9983674532 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which of the following statements is NOT true according to
this passage?
Options:

1. = Light cannot escape the intense gravitational attraction of
the black hole

2. » What was recently observed the outline of the shape of a
black hole

3. » The latest developments in the field of image recognition
were used for the experiment

4. v The tremendous gravitational attraction of the black hole
is a threat to human beings.

Question Id : 9983674527 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (151 to 155)

Question Label : Comprehension



Read the passage and answer the question given below it

Last month, the Event Horizon Telescope (EHT)
collaboration showed the world the ‘unseeable’: the very first
image of a black hole. Of course, the black hole itself
cannot be seen, because light cannot escape its intense
gravitational attraction. The so-called event horizon that
envelops the black hole is the point of no return and any
object transgressing this boundary is lost. Just outside is a
region where a photon (light quantum) can orbit the black
hole without falling in. This is called the ‘last photon ring’,
and this is what the EHT imaged, seeing in effect the
silhouette of a black hole. Visual proof of the existence of
black holes comes a century after they appeared in
scientific literature. In a collaborative effort, eight telescopes
around the world were used for the experiment. The
challenges included making each observe the same broad
range of wavelengths around 1.3 mm and having precise
atomic clocks at each location, so the data could be
combined.

A black hole marks the end of space time as commonly
understood, and nothing that enters it can escape from the
tremendous gravitational attraction. However, this is no real
danger, as black holes are located at distances that humans
do not have the power to scale. The EHT set out to image
two candidate supermassive black holes — Sagittarius A,
which is 26,000 light years from the earth, at the centre of
the Milky Way, and another which is 55 million light years
away at the centre of the Messier 87 galaxy in the Virgo
galaxy cluster. But the first image was of the more distant
one. The very long baseline interferometry technique linked
radio dishes of telescopes across the world to produce a
virtual telescope the size of the earth. This was needed to
obtain the high resolution required for this measurement.
Combining data from telescopes, each with different
characteristics, was a separate challenge. Cutting-edge
developments from computer science related to image
recognition were used. As Katie Bouman, Assistant
Professor at the California Institute of Technology, who led
the efforts to develop an algorithm to put the data together
and create the image, said in a talk, projects such as the
EHT succeed owing to interdisciplinary expertise that people
bring to the table. This experiment endorses the diversity of
collaboration just as much as it does unrelenting patience

and good faith in the power of science and reason.



Sub questions

Question Number : 151 Question Id : 9983674528 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The ‘black hole’ gets its name from the fact that:

Options:

1. = there Is darkness all around it
2. v It cannot actually be seen
3. % sclentists have not found out where 1t Is

4. = 1t i1s black in colour

Question Number : 152 Question Id : 9983674529 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

This passage I1s mainly about:

Options:

1. v the collaborative effort of many countries
2. = the search for a rare phenomenon
3. ® using science to create unusual models

4. = the attempts of scientists to save human beings

Question Number : 153 Question Id : 9983674530 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The event being described in the passage was sighted

through:

Options:

1. v a giant virtual telescope
2. = precise atomic clocks
3. = radio dishes

4. = an algorithm



Question Number : 154 Question Id : 9983674531 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The first image was of ‘the more distant one’ refers to:

Options:

1. v The black hole
2. » The telescope
3. = The earth

4. = The antenna

Question Number : 155 Question Id : 9983674532 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which of the following statements i1s NOT true according to

this passage?

Options:

1. = Light cannot escape the intense gravitational attraction
of the black hole

2. » What was recently observed the outline of the shape

of a black hole

3. = The latest developments in the field of image

recognition were used for the experiment

4. v The tremendous gravitational attraction of the black

hole Is a threat to human beings.

Sub-Section Number: 3
Sub-Section Id: 998367280
Question Shuffling Allowed : Yes

Question Id : 9983674533 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (156 to 160)



Question Label : Comprehension



Read the passage and answer the question given below it:

Ram Sethu, also known as Sethusamudram and Adam's
Bridge is a stretch of limestone shoals that runs from Pamban
Island near Rameshwaram in South India to Mannar Island
off the northern coast of Sri Lanka. It formed part of a land
bridge that joined Sri Lanka to the continent of Asia during
the last ice age.

Hindu believers hold it as the structure that Lord Rama and
his army of apes and monkeys built to reach demon King
Ravana's Lanka.

There are different geological and religious theories behind
the origin of the bridge, one of which even says that Sri Lanka
was a part of Indian landmass and that the calcareous
rectangular blocks are testimony of Lanka breaking away
from the mainland about 1,25,000 years ago.

It was the site of the proposed Sethusamudram Shipping
Canal Project by the Government of India for dredging the
entire strait to make it navigable by large ships and create
fishing and shipping harbours in the coastal areas because
today, ships bound for India’s eastern coast have to circle
around the entire island of Sri Lanka to reach Tuticorin,
Chennal, Vizag, Paradip and other ports.

It has been claimed that that the successful completion of the
project would cut travelling by about 350 nautical miles and
will save 10 to 30 hours’ sailing time. It will bring down
shipping costs and add to India’s exchequer in the form of
transit fees.

As the Hindu believers hold it as the structure that Lord
Rama and his army of apes and monkeys built, thus because
of this religious belief, the project has been condemned and
opposed by a wide spectrum of the Indian people.

Environmentalists claim that the completion of this project
would destroy and destabilise the flora and fauna in the
nearby locations. They have also claimed that most modern
ships carry much higher loads but only ships with tonnage up
to 30,000 tonnes would be able to use the canal.



Sub questions

Question Number : 156 Question Id : 9983674534 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The passage mainly describes critical views about:

Options:

1. = Religious theories

2. = Geological theories
3. v Project details

4. = Environmental facts

Question Number : 157 Question Id : 9983674535 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

‘It’ in sentence two refers to:

Options:

1. = Mannar island
2. v Ram Sethu

3. = Sri Lanka

4. » Pamban Island

Question Number : 158 Question Id : 9983674536 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The evidence cited to suggest that Sri Lanka was once a part
of the Asian continent refers to:

Options:

1. v rectangular blocks of calcium
2. » the flora and fauna

3. = limestone shoals

4. » sand and coral reefs

Question Number : 159 Question Id : 9983674537 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which of the following will NOT be affected by the
completion of the proposed project?



Options:

1. = Travelling time
2. = Shipping costs

3. = India’s exchequer
4. v Tsunamis

Question Number : 160 Question Id : 9983674538 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which of the following is not an argument presented against
the project?

Options:

1. = the natural surroundings will be destroyed
2. = religious sentiments will be hurt
3. v fishing and shipping harbours will be created

4. = modern ships carrying heavier loads will find it
inaccessible

Question Id : 9983674533 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (156 to 160)

Question Label : Comprehension



Read the passage and answer the question given below it

Ram Sethu, also known as Sethusamudram and Adam's
Bridge is a stretch of limestone shoals that runs from
Pamban Island near Rameshwaram in South India to
Mannar Island off the northern coast of Sri Lanka. It formed
part of a land bridge that joined Sri Lanka to the continent

of Asia during the last ice age.

Hindu believers hold it as the structure that Lord Rama and
his army of apes and monkeys built to reach demon king
Ravana's Lanka.

There are different geological and religious theories behind
the origin of the bridge, one of which even says that Sri
Lanka was a part of Indian landmass and that the
calcareous rectangular blocks are testimony of Lanka
breaking away from the mainland about 1,25,000 years ago.
It was the site of the proposed Sethusamudram Shipping
Canal Project by the Government of India for dredging the
entire strait to make it navigable by large ships and create
fishing and shipping harbours in the coastal areas because
today, ships bound for India's eastern coast have to circle
around the entire island of Sri Lanka to reach Tuticorin,

Chennal, Vizag, Paradip and other ports.

It has been claimed that that the successful completion of
the project would cut travelling by about 350 nautical miles
and will save 10 to 30 hours' sailing time. It will bring down
shipping costs and add to India's exchequer in the form of
transit fees.

As the Hindu believers hold it as the structure that Lord
Rama and his army of apes and monkeys built, thus
because of this religious belief, the project has been
condemned and opposed by a wide spectrum of the Indian

people.

Environmentalists claim that the completion of this project
would destroy and destabilise the flora and fauna in the
nearby locations. They have also claimed that most modern
ships carry much higher loads but only ships with tonnage

up to 30,000 tonnes would be able to use the canal.



Sub questions

Question Number : 156 Question Id : 9983674534 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The passage mainly describes critical views about:

Options:

1. = Religious theories
2. » (eological theories
3. v Project detalls

4. = Environmental facts

Question Number : 157 Question Id : 9983674535 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

‘It In sentence two refers to:

Options:

1. = Mannar island
2. v Ram Sethu
3. ® Sri Lanka

4. = Pamban Island

Question Number : 158 Question Id : 9983674536 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The evidence cited to suggest that Sr Lanka was once

part of the Asian continent refers to:

Options:

1. v rectangular blocks of calcium
2. = the flora and fauna
3. % |Imestone shoals

4. = sand and coral reefs



Question Number : 159 Question Id : 9983674537 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which of the following will NOT be affected by the

completion of the proposed project?

Options:

1. = Travelling time
2. = Shipping costs
3. = India’s exchequer

4. v Tsunamis

Question Number : 160 Question Id : 9983674538 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which of the following Is not an argument presented against

the project?

Options:

1. = the natural surroundings will be destroyed
2. = religious sentiments will be hurt
3. v fishing and shipping harbours will be created

4. = modern ships carrying heavier loads will find 1t

Inaccessible
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Question Number : 161 Question Id : 9983674539 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

WL e T 37 FIaT 2

Options:

1. v T=HT
2. * 3M{d
3. = Dol
4, » g

Question Number : 161 Question Id : 9983674539 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

‘FI eleg ol 3797 BIdT &:

Options:

1. v TegdAl
* 3FT

2.
3. = holh
4.

Question Number : 162 Question Id : 9983674540 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

3T STec, BT N g1 gidT &




Options:

1. = oM

2. % o
3. = GATIH

4. v TTH

Question Number : 162 Question Id : 9983674540 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

3cIT 9sE hT 37T @Y BT &

Options:

1. % e2mr
2. % Gl
3. % AT
4. v R

Question Number : 163 Question 1d : 9983674541 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

“3fe T3 g3 & felq uen eree, g

Options:

1. = 3T
2. v A=di-igd
3. % Ty
4, = MU

Question Number : 163 Question 1d : 9983674541 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

‘W%mgm’%ﬁvwemsﬁ?ﬁ:

1. = 34T

2. v 3edialgd

3_ # oedhod]



4. = MY

Question Number : 164 Question Id : 9983674542 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0.25

gﬁvw Sreer 3ref gim:

1. v T&HAT - ST &l Ul
2. % SCUWl - oT&HT

3. * BN - PG,

4. % gVq - Iied

Question Number : 164 Question Id : 9983674542 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

TIeT-Zr reegad 3 Elam:

Options:

1. v ST&HAT - ZgT T Ucall
2. % SgUcell - GI&THI

3. * 3AI - FAT

4. = I - HieF

Question Number : 165 Question 1d : 9983674543 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Mafrad aradt § T B9-8 arad § R e Ta/Ad &

Options:

1. = 3T AR 3T gl

2. 3T aI-Ga! e &gl
3. v 39 Y, W 3AUehT AR 2T gl
4. % MUY PB daR B 37T Zl

Question Number : 165 Question 1d : 9983674543 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

AT Ed aredr # & Sid-8 ey # Oar o TI/AdT &

Options:




1. = 39 B 3= &
2. = 3T FE-gar R e

3. v 30 HT W TR fa=m s gl

4. = 399 F R T GRRIE ﬁ'l

Question Number : 166 Question Id : 9983674544 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

T 3G g F d 3T T &1 amerd  WWifehd U< B

Options:

1. v 94T

2. % G

3. = ferergor

4. % TopaT Tarergur

Question Number : 166 Question Id : 9983674544 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

H 39k Fad O o9 3T =T gl arFg H TgITehd 9T &:

Options:

1. v 4T

2. * GATH

3. = faeiyor

4. = Torar faeiwor

Question Number : 167 Question Id : 9983674545 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

‘Flisdl § D% T g’1 a1ad # Githd U<, 8

Options:

1. = NeIgdr=Ih ga-TH

2. v ATIadTd T
3. * TYTIR Fe-TH




4, » TS gd-TH

Question Number : 167 Question 1d : 9983674545 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

ST # g @ST &' T 7 IWIhd 9 &

1. % Te<Tga< ddaTH
2. v MTaeaaa=<Te gaaTH

3. ® YeAdTIsh HdTH

4. = TASTaI AdeTH

Question Number : 168 Question Id : 9983674546 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

TIAT LIS, BT TALYUT G

Options:

1. * QY
2. % TAIqY
3. v dge
4. = FgLar

Question Number : 168 Question Id : 9983674546 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

LA AE Eeiyor gem:

Options:

1. % TS

2.
3. v T
4.

Question Number : 169 Question Id : 9983674547 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

U PR U, eil’] ATFT § DT TohaT 82



Options:

Question Number : 169 Question Id : 9983674547 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Hel R TS oF| aFg # hiadr Har g2
1. o wge T

2. = FHAET TopaT

3. » THAST GhaT

4. % FTTHS TopdT

Question Number : 170 Question Id : 9983674548 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

g ST &L TToT Weh'] e H TWiTchd U, I--JT TshaT Terdruor g2

Options:

1. » STTATT ShdT TALATT
2. % T TohdT farsrmor
3. = Jidardy ey

4. v UTRATUETT AT TarLroT

Question Number : 170 Question Id : 9983674548 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

‘e MET &1 Tl Gehr'l arerT H JFIThad U hia-ar fshar faeryor
72

Options:

1. = ShTerarr fohaT AewoT
2. % TATAGRT TohaT geiyor




3. = Jfaamr BFeyor
4. v IATOET TohaT Taeisyor

Question Number : 171 Question 1d : 9983674549 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

MygfeliEd & & oIF-9T Ie¢, ool T g7

Options:

1.«
2. % 3MHC
3.v9cg
4. % qTd

Question Number : 171 Question Id : 9983674549 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

ATl =& # & SHid-AT ec, gfﬁ“@iﬂ 87

Options:

1.« gqd
2. » 3MHE

3. v I

4. = 9

Question Number : 172 Question Id : 9983674550 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0.25

YT § & 9T S[ec, SATeiT g7

Options:

1. » I+HIC
2. % e Tl
3. = YIc

4. v Ihgel

Question Number : 172 Question Id : 9983674550 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



@ # O Sia-ar ewe S &7

Options:

1. = 3eHIq
2. % hedlul
3. ® HTC
4. v BHHA

Question Number : 173 Question 1d : 9983674551 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

‘g @l AT 3’1 ATHT & T@iTchd U § BIRD g

Options:

1. v @&al
2. % PH
3. % IO
4. % JTEE

Question Number : 173 Question 1d : 9983674551 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

‘AEed B SATeT & TR & IGThd U H FH &

Options:

1. ¢ &dr
2. % F®H
3. % hIOT
4, = 3TIHRTOT

Question Number : 174 Question Id : 9983674552 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

AR Ferd! TSl F P, AT @iTehd 3fer § BRb g

Options:

1. = &l
2. % &l




3. %
4, v JUTSIT

Question Number : 174 Question Id : 9983674552 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

AT TeldT e T %e T IEITehd 3727 H FRF &

Options:

1. = Sal
2. %« HhE

3. % 0T

4. v IYIET

Question Number : 175 Question Id : 9983674553 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Al STEC T SATel 1T ST,

Options:

1. = &l

2. % &
3. v @l
4, = T

Question Number : 175 Question Id : 9983674553 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

FdT e T TAITelIT Tl

Options:

1. = Sl
2. % ohe]
c
3. v FAl
4. » T
Question Number : 176 Question Id : 9983674554 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25




el § ¥ oI9-9T a19g 93t a1 32

Options:

1. v A Igd GRS W 4T og Tg1 ATl
2. * ST olleTail gId g of GHAIT AT gd gl
3. = S &I MO g & ST BiS TET garl
4. = AIgT 7 I PIS BYATT, & TS, &b o1 gl

Question Number : 176 Question Id : 9983674554 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

el =T # O $ia-a1 gy T araFg &7

Options:

1. v M 9gd TASS W T I =70l ATl
2. = ST ool gl § I gHM g&iT | ¢l
3. * S °9T I Bl § 3eThT I =TeT FercTl
4. % HIGe of Sl IS JUAIC, T ¢MeT & T &l

Question Number : 177 Question Id : 9983674555 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Mgt & & Ty arerg d-a1 32

Options:

1. v 919 &1 g7 X T et SITIRST G4 o]
2. % U O ¥ Mol gl ATILET g+ o1l
3. * gH B ¥ Mpol 3N S1TSr g o1l
4, » W IS § 6 & el

Question Number : 177 Question Id : 9983674555 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Ao Ed # & THS a9 Hid-ar g7

Options:

1. v o8 & &7 =¥ I ToAehol, STTLLT &loT o4
2. x FAN T O Tahord & a1ier g oefl




3. » 5 oX O former 31T sTier g oefil
4, = H ST H o7 T ol

Question Number : 178 Question 1d : 9983674556 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

STgl & Wl &, T8I U ol | g1 Ig U 30 197 3

Options:

1. * JHIATAS THAT TAATT IUaTrd
2. v TS [T O T IUaTad
3. = ATdarad T T IuaTad
4. % GIATUATA® ohadT [T 3uenadd

Question Number : 178 Question 1d : 9983674556 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

STal @ Tgd &, 981 U Ehel o7 & Ig Uh 37 997 &

Options:

1. = HHAAAS fohaT TaeYoT 3Uarer
2. v TATAATreR foham Taeivor Iuarey
3. «» ffcaraes frar @EYoT 3yare
4. = gRXATOEIR TohaT fIAWoT 3UaTeRy

Question Number : 179 Question Id : 9983674557 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0.25

TGT ¥ ST TYT &A1 GEL NN TG AL g

Options:

1. v GIISTD GYh T

2. % TaWTSTh §gh elTard

3. = Ty o

4. » IATUTATID Gk e

Question Number : 179 Question Id : 9983674557 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25




1. v OdIoTeh ng—d GIET?

2. =« [asraTer i—i%-lnci'd GIERD)

3. = T8y gareg

4. = THATOTIISh chrd GIETS

Question Number : 180 Question Id : 9983674558 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

T T § Uas gl shaT gt 3, ag dgelldl a.

Options:

1. * G aATH

2. « Hlol T
3. » THY gTFg
4, » YYeh WY T

Question Number : 180 Question Id : 9983674558 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

g e # vk & fohaT &Y &, 98 Fedldr &

Options:

1. » HJFT T

2. v 3ol ard
3. = T8 gy
4. = a’ga-?rﬁarm

General Hindi2

Group Number : 10

Group Id : 998367186
Group Maximum Duration : 0

Group Minimum Duration : 120

Show Attended Group? : No



Edit Attended Group? :

Break time:

Group Marks:

IsthisGroup for Examiner?:

Revisit allowed for group Instructions? :
Maximum Instruction Time:

Minimum Instruction Time:

Section Id :

Section Number :

Section type:

Mandatory or Optional:

Number of Questions:

Number of Questionsto be attempted:
Section Marks:

Sub-Section Number:
Sub-Section Id:
Question Shuffling Allowed :

Question Number : 181 Question Id : 9983674559 Question Type: MCQ Option Shuffling: Yes

Correct Marks: 1 Wrong Marks: 0.25

‘MR H DTS AToll 5 TGiThd e, & TATT U DIF-IT A, TANT gl IpaT

g7

Options:

1. v T
2. % Vel

3.« Ay@
4, % 3T

Question Number : 181 Question Id : 9983674559 Question Type: MCQ Option Shuffling: Yes

Correct Marks: 1 Wrong Marks: 0.25

No

20
No
Yes

General Hindi2

998367192
1

Online
Mandatory
12

12

20

1
998367282
Yes

SFIL H SIS olTall & IGIehd 26 & AT T hid-AT 27eg,

AT & TehalT &7
Options:
1. v 99T

2. » JHg




3. « AZW
4. = 3TeT9T

Question Number : 182 Question 1d : 9983674560 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

PIF-TT L[S, ST DT TATAATT 81 52
Options:

1. » gear
2. v aieuit
3. = greqr
4, % g

Question Number : 182 Question Id : 9983674560 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

FieT-AT 26 ‘Tar &l gIIarT el &7

Options:

1. » gRar
2. v Jiol
3. » dfealr
4. » LTI

Question Number : 183 Question Id : 9983674561 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0.25

‘UG AL TR ATHAT & UTth &b LGiTdhd US, BT T 8-

Options:

1. % 3TcAST
AT

3. = 3THIT
4. % TAsTca

Question Number : 183 Question Id : 9983674561 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25




Tg AU ATFIIT ATHT & Ulerd & I@ifehd U8 T =T &

Options:

1. = TcHST
2. v Taair

3. % 3cHAT
4, % Tololca

Question Number : 184 Question 1d : 9983674562 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

it ¥ T FE Tt BN

Options:

1. » FIEIAT
2. % TIITUIH
3.vaT

4, = Sid

Question Number : 184 Question 1d : 9983674562 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

HE & o0 H@gl 9T gem:

1. % FTel<a]
2. = STATTAITH
3. v ad

4. » N

Question Number : 185 Question Id : 9983674563 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

YOU’ S[EE, BT TATT a1 &

Options:

1.« $gA
2. % T




3. v BictehT
4, » G

Question Number : 185 Question 1d : 9983674563 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

TE’ ese; KT AT QT ¢
Options:
1. = RIH
o
2. % W
3. v il
4, = ﬂ?l?l'

Question Number : 186 Question Id : 9983674564 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

‘AqATUDR AT, BT [AeTI¥ IdT 8

Options:

1. v IcTeT
2. % [l
3. = 3TAd

4. * TR

Question Number : 186 Question Id : 9983674564 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

‘HIITIFR g FT AeNH JaT &

Options:

1. v dcTed
2. = fRa
3. = 37
4, » YT

-

Question Number : 187 Question 1d : 9983674565 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



“qg agd GWell g’ e § 1@ifend o feleT | g

Options:
1. = gar
2. * UL

3. v SrTHAGH
4. % EATST

Question Number : 187 Question Id : 9983674565 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

TE TG HalHd & g # Y@ieha &7 @A ghem:

Options:

1. = Jar

2.
3. v MIHTald
4,

Question Number : 188 Question 1d : 9983674566 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

‘T [, BT TAeATH BT

Options:

1. v 314"
2. % gid
3. = T
4. % 31

Question Number : 188 Question Id : 9983674566 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

‘ASS eTeg ol TAolIA T &:

Options:

1. v {9H

2.« gfe



3. = TT&TH
4, = IR
s

Question Number : 189 Question 1d : 9983674567 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

‘g W qHA® 3’1 919 § WilTdid Ue T faeriw gl

Options:

1. * giduaft
2. v Taret
3. = TUTAY
4, % Gidgdt

Question Number : 189 Question Id : 9983674567 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

TE AU HEIE ¥ gt # {@ihd U T [TenH gl

Options:

1. % GiI9siy
2. v O

3. % TETYTAT
4. = gfreacr

L

Question Number : 190 Question Id : 9983674568 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0.25

Gug’ BT el e 3

Options:

1. v [aug
2. % @G
3. % TS

Question Number : 190 Question Id : 9983674568 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



TUeal” &1 AeldT oeg &

Options:

1. v B9ear
2. » GRg
3. = N
4, % QAT

Sub-Section Number: 2
Sub-Section 1d: 998367283
Question Shuffling Allowed : Yes

Question Id : 9983674569 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (191 to 195)

Question Label : Comprehension

YT ad TEJTT B UgdT 39d 9ol Sa¥ aa1

AT 9¢ W YAd §U A @1 i Tderd T 3rerdr= gi= ST g1 4T 37 @17 Wi
oTlTge gl TelT ATI TeTA@T3T U Tehul STHTIATT 4T 3T DATel-T PoTdoct™
yalelt 370 A1 UGl T dhoeldd A-THIgD AT 3T & GAT-Goit TF-THeATT hi
ATg DI PeU=T3 § GHIT-IT el AT T AT § AT AT 3N ATTelTelg
&I Pt BTAAT TolT TeT I TgT 971 ot Topia i 3N It 7, &1 gt
qST WX grelt &, U A H T 9T i 37T ¢ T o 37 U1 =T gl
STql

Sub questions

Question Number : 191 Question Id : 9983674570 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

TTerTer ® aui 3

Options:

1. * YTd:hleT hI
2. % HEITg ol
3. v QEgT hr




4. = A AT

Question Number : 192 Question Id : 9983674571 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

39 QA 3(TRTT AT TT AT

Options:

1. » sq-9aTH
2. v AR
3. » Qr-fedm

4, = 3rcqd $ATHA

Question Number : 193 Question Id : 9983674572 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Toheul ST o

Options:

1. v &t & =il W
2. * Tod-EAT3I T

3. * 9] YeTg W
4. « TIPS |

Question Number : 194 Question Id : 9983674573 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

‘BT PoT oot T ST 3

Options:

1. = T=GHT

2.vgd

3. ® dI<NTur
4. % qA

Question Number : 195 Question Id : 9983674574 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

TU T Y UTHT T Tl 39 g

Options:

1. v GG =g g




Question Id : 9983674569 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (191 to 195)

Question Label : Comprehension

frFaTaf@aT argamer s ggeht 384 TETl 3ol I

Hﬁmwgﬂﬁyﬁﬁmaﬁrﬁw ST 3TdTel &leT T I&T
o7 3R QT 6T difed ar e ATl FeErEnat oW fevor
AT AT R FATeleAT Forgeas Tl 3eq@ I gfarar Fr
FoRd AeAleh AT 3T #A gelr-gelr fA-fAeme wr =g Fr
FeUar3ll & TRT-AT e T &7 97l #& QAT o7 3K
TOITEE Blel ohT IFHT o0 el ST &7 ATl F7 gepfar dfed
3R @Y A, alet & A W g O, W Al H UET AT
3TST G T G 30 9Tell T 9Teil &1 SIreer]

Sub questions

Question Number : 191 Question Id : 9983674570 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

eI H avie §:
Options:

1. = YTA:hTel <RI

2. * HEJTZd <R
3. v AT T
4, = I F1

Question Number : 192 Question Id : 9983674571 Question Type: MCQ Option Shuffling: Yes



Correct Marks: 1 Wrong Marks: 0.25

3 §HT 3ThT1el ohT I97 9T

Options:

1. » 23d-2ITH

2. v pllmd-ll*’:-ljcl'd
3. = LIT-TSLaT

4. = AT eATH

Question Number : 193 Question Id : 9983674572 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

ToRTOT eI AT 2
Options:

1. v gait Fr Dt w

2. * JAd-S[EAT3 W
3. = ocT Ualg W
4, = I A

Question Number : 194 Question Id : 9983674573 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

‘FHTTT Fol Teors g 3TeT &

Options:

1. % gl
2. v &
3. * TIM0T
4, « A

Question Number : 195 Question 1d : 9983674574 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

TY T Y UTell FT el T 3T g

Options:




1. v Tal =9

2. = 3T 3

3.  YUT TSROl

4. « YE YU
Sub-Section Number: 3
Sub-Section 1d: 998367284
Question Shuffling Allowed : Yes

Question Id : 9983674575 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (196 to 200)

Question Label : Comprehension

MgTTad TR B UGdT 39d GaT Sa¥ aal

H UTATeT UTa: 9H & [T g1 gl e # g2 Teh 60 -65 o o Fi
THold g, St g2-JE g TasIeT ST & g1 # 379 Irich Tered o a1 H goT
dr Irgi gl Teb | g TeI& g ol Teb FA adTal gl Jgi+ G ST feh
T TRA, UT W, T ST MY AT It AR ST 37514 YT & Tedd Wi
<l TUE ThdT 3T § YT GADT Yol T THIITL SI3TEeT, 3Tol Tdl i Aiel
X el oI+t TTig Ul Ig ot -8R # 6T G T 3Tl i ol
TTdeT G0 eI § i drel A<l gl

Sub questions

Question Number : 196 Question Id : 9983674576 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

i T ¥ G117 A1gd & 1o

Options:

1. v G Ucel gomT ATgyl

2. % Uler TRA UTHT & Ja7 Anigyl
3. % TRA SRTel Ug AT ATg Ul

4, » S-St 31 F YT anigul




Question Number : 197 Question Id : 9983674577 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

U =0 T AT9WTT 3

Options:

1. v @ ¥ &1d @M
2. % UT hl HITelST DAL
3. % U¢ W del Ul
4, = U I AT ATl

Question Number : 198 Question Id : 9983674578 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

9T 38T T =T AT GAST aTga A7

Options:

1. v Y g1 DT ATRUL

2. % TG U UTHT BTeld AT ATigul
3. * YT PldT P AT ATTaUI
4, = B T PIT TGT ATRTI

Question Number : 199 Question Id : 9983674579 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0.25

2T BT AP & AT T

Options:
1. * Efd ¥ BT g% U
2. v &l gl

3. * PIST JH BLATI
4. * G G R AT

Question Number : 200 Question Id : 9983674580 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

TTEITST T YeTHTS 3

Options:

1. # &)
2. % qHU
3. v TR




4, = TeIIeugar

Question Id : 9983674575 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (196 to 200)

Question Label : Comprehension

frraTaT&T IeaTer T Ygehd 3T TET 3cal Aol

# ofafes ura: srmor & fow €1 adt 3eaer & g3 vk 60 -65
ay & Hoolel [Held &, S g5e-goc § TA=lldr Tasmma & & #Hat
38 3l TAELT ¥ SN F g A Iedia war 5 F R
TGEY TGal T Teh A AT E“'I 3ol g9 adrT o dig I,
U oA, @Y 3371 3V IGF d ART S3I 3ogiel JT & Tedeh
AT T TS TRAT 3 H T FoRL Foll of TAT T3,
3Teel STl hr il G aTel ofell TVl Ig Fraehl d-4 A
AT FT T 3HTela FleT SO MTSTohel &H o9 H T FIC)

T &l

Sub questions

Question Number : 196 Question Id : 9983674576 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Uig IRA’ & Hooldd Sdlal dlad & o

Options:

1. v TF Yol Torel =gyl

2. = Uig INH 9T & Hhall AR
3. % INH guﬁ Ugal IGaT ANa7I
4. = WE-MEr 3T T dehar TR

Question Number : 197 Question Id : 9983674577 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25




e oA 8 I &

Options:

1. v T § FHTH Zel
2. = Y& T ATferer Tl
3. » 9 W del gusATl
4, = 9T I gaTd &l

Question Number : 198 Question 1d : 9983674578 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

VT 337 & Yool FAT THHATT ATET A7

Options:

1. v I sTal eIl ATyl
2. « AT 9T YTaT STeld {87 ATRTl
3. = #olel hidel I IgaT ATBVI

4. = HH T FTH TGAT A1RT

Question Number : 199 Question Id : 9983674579 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

TIT Fer Ul F JTHuT &

1. = gId & &I g5 UL
2. v aIET Bl

3. = HiSeT HH FIAT|

4. = gfrd{s & ST

Question Number : 200 Question Id : 9983674580 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

T T HAHT &

Options:




2. % HHAT
3. v HFeT



